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NTA ISH, S /Semuw i, feawsr-2023
YIS (PHILOSOPHY)

qreEet '{T[%?I‘ Tgei™r U9=-us &A1 BT (odem fafir : 08.12.2023)

Which one among the following is accepted by
Immanuel Kant as moral imperative?

HA-H THICA

Afcreh THEIRT/2Te9T & 0 § Wik &7

(a) Hypothetical Imperative/‘%ﬂa?ﬂ foram 3w

(b) Categorical Imperative/ﬁTa&T [ERINVES ]

(c) Scientific imperative/a3f=eh = MY

(d) Assertorial Imperative/@ﬂw o ames
Ans. (b) : FU&s 43Ry THMEA HiC gW Afds
foarT ey & &9 § W 21 afvadt avia § fverard
I FAEARE AHHE F T R Hie & I H gam
21 3% A fygra & Frde e & g wel ST
21 39 fagra & 9R @@ 8 5 Afged 7 @ agE A
eI 9 WEeT § wEtEd 8 ¢ o T & & &
SR §1 A B CHAE GaY Fde @ Sa T ¥ 8 2
2.

Kant claims that the moral law is given to each
person by :/<hl€ <hl HA g

=R ot Frefeiad & g e § ¢

(a) Law of state/Tsa &t fafer

(b) Constitution of the state/Tsd T Hfq&=

(c) One's own will/fr&t =k &1 @ HT Hehed
(d) Will of the other/fh&ll 371 =Rk &1 Hehed

i g

Ans. (¢) : 21 % ITIER TOME JH &1 99 e 2 |
il A% TH U HeH Al gu 7, R e
Tk 39 TS ST T et % foard o 3w
® foemr g1 @Rl 4 gfger iR gH P ST &
iR fHam

5. Which one (:lf the followilrllg stlz;tellnentsh is no}
true accordin to  the ilogo 0
Vivekananda?/ﬁ!ﬁ%ﬁgﬁ T:Fﬂ'—% %pié?—'{:ﬂ
T TrAshTE o g9 o ITTAR W e &7
(a) There is identical relationship between soul
and God./3ATHT T qayY %I

(b) Vivekananda's Philosophy is called Neo-
Vedanta. % T P TH-Iq HEl
S 21

(c) The world is totally different from God.
ST g @ § g fie 21

(d) Maya is ground of the creation of the world.
YR &1 IR S AR A= 2 |

Ans. (¢) : S TE ¥ ¥R 4 0 @, 98 97

fasm= & T f 21 3% a3 &

Ans. () : HIC & AT 8 [ Afdd (A Jcdh Ak h
wWd % Ghed FN ST 21 He F IR, wiff

SERIeh alfger TMOUTE o Afdeh 7| e SAehe

@ Sead § ffRd 81 Afaed & i aifes gl #)

for foreft e @R& @ weifeq gU @ & fou faum

A I T e § 9 S 2

3.

In Kkant's epistemology, the concept of the
thing-in-itself is something not knowable by the
senses, but at least thinkable, is a : .

wE W s (o 3=
TEUTH) T FAUNUT, S AT BN 3T ¢,

(a) Limiting concept/HifHd & aTell STaeRoT

(b) Liberating concept/qhardl STereRuT

(c) Paradoxical concept/ﬁﬁw SR

(d) Logical concept/difches STaemum
Ans. (a) : FIZ H YA B el IR FAHAET H
ey (B 39 ede®) = sEumom s 3fRE g
I 8, T BA W HA frER A 2

4. The objects of mathematical knowledge for
Plato are : AR A <Rl
forser o/ 77

(a) Sensible particulars/ﬂ'aﬂ'q fafere

(b) Real universals/aene AT

(c) Intelligible particulars/gf&m fafire
(d) Addable numbers/ITTT HEATE

Which one of the following statements regarding
Shankara's concept of Maya is not true?
Rl

vt ki ‘T’ TGN & T |
frefafaa wat 8 @ w=-a1 g & §7?
(a) It is inherent power of potency of Brahman.
T8 SR bt ek
(b) It is Spiritual and self-conscious.
qg HIH-
(c) It is beginningless/J8 I 2
(d) It is indescribable and indefinable
I8 g 3
Ans. (b) : T o TEAT T STEURIT & G4 H T
- & HIT G A4 21 UH &
SER AR S # erffed Wi 31 ¥ IR 21 W
ol 3R ruRersT 21

7. "Being is what it is not and is not what it is"—

this statement Tir%associated with the philgsqophy

of /'|a =&
oy Og dae
(a) Beauvoir/gedT (b) Kierkegaard/ﬁfﬁv"ﬂé’E

(c) Sartre/TH (d) Nietzche/Stet
Ans. (¢) : Gd 98 & S 98 el g 3N S 98 Tl & a5 A
' 98 919 Gaftd @ 96 % <39 91 S 9 96 T
N WM o § AT H e
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The claim that philosophy is a rigorours a
science from its earliest beginnings is a position
that is denied by /3Ta=t YRR

& AT ¥ ¥ P9 i Ueh ol o

®Y H WA & I hl TR Hd &7

(a) Descrates/3%Td (b) Husserl/gﬁﬁ

(c) Heideggar/8EeTR (d) Merleu-Ponty/Afel =it
Ans. (b) : RLAR-IFF IRIHH T@ TET TSHS godl
A9 IRFNS T ¥ @ IR U FeRr fame %
&9 & q % &1 Bl STEHHT H T |
9.

Humans for sartre are free because their bein
is pased on. AJEAR Hﬁ: Ead
TSR SeRT | BT e O Smenie &7
(a) A living body/Tsh Sfted TR
(b) Annihilation of being in itself

@ § | & Y (3TRAE)
(c) Surrender before being in itself

@Y ¥ 9q & gEe gEguy
(d) Its relation to itself is primitive

@ % WY S Gy M 8
Ans. (b) : SA-UAT HH ARG & U8l [oaRh § 9
T SN 81 SER WA ¢ i, I |
BT @ | T4 % e ( ) T 3R 21
10. “llnhliCh olllledof the followingPschools of Jn‘glian

iloso oes not support Parinam vada?

&

¥ &=

gRUTTHETE T queT & war?

(a) Samkhya/Ti&a (b) Yoga/amm

(c) Ramanuja/TATS (d) Nyaya/=md
Ans. (d) : AT 309 & FrIud gRUMHEE H G T
FAT| T A F ads W TAH 21 =TT H Il
e h o Fofe @1 o8 g v § gl &gy
q gaifees weayl a9 2

11.  Which one of the following statements is not
true according to Samkhya philosophy?

e WA § A
- T T ¥
(a) Purusa is itself pure and transcendeutal
consciousness/Te¥ E g
T &

(b) Purusa is principle of pure consciousness
TeY g S 1 96 @

(c) Purusa is the ultimate knower/J&% 9TH 1Al 2

(d) Purusa is a by-product of matter
&Y Ygel 1 U5 39-341E ¢

Ans. (d) : 97T T % AR O S U 3R

2, 99 74 21 Waﬁq%wﬁ%ﬁaﬁm%%ﬁ

Ty WY s o A g 81 ey frggs S @

T 21 IR R 90 2

12. Which one of the following views is acceptable
to Charvaka regarding Vyapti?

‘sfta’ & gy o frafafas 9 -9

faror wrten T &

(a) 'Vyapti's is universal and invariable
relationship between middle term and major
term./* ’ e g (
TE & (H1e) 93 & o STUREdHT g

(b) 'Vyapti' cannot be proved by perception or
inference or testimony/* F TTT G AT
A § A TeF § fag T e S wear

(c) Vyapti' is universal and invariable relationship
between major term and middle term.

‘oiftet 3R T TS (TEAUS) qU1
T U% (3q) b S ARG Hae @
(d) Vyapt' is universal and invariable relationship
between major term and minor term.
‘=’ - (|EAYS)
HTEA (T U%) F &= BECR
Ans. (b) : TG & G&-Y § MM HI Foed 9 A1 A
T o1 gr § fyg T B ST g1 81 98 W drie &
i 21 arafh I H T F] SIS AN I H
ST T A T 81 R IR F g e A el
asrxr?_ggﬁam% FafeTT o7/ & forw 39 <viq o
©H |

13.  Which one of the following views regarding
'Samavaya has been propounded by Vaisesika?
AT frefaiaa
WeraTe a9tk g feRam T §2
(a) Samavaya is separable and transient relation

A 3N s Hey 2
(b) Samavaya is separable and inseparable
relation/¥HATA ey ¢
(c) Samavaya is inseparable relation
FHag RER)
(d) Samavaya is accidental relation
qua RECE
Ans. (¢) : THAY & T § S9N & 94 2 (b guad
T | T § gue & gad A7

T 21 39 Uag G F [ T A L

Tehd, THH I G % JoH 7 B A T

SIS L TR ¢ |

14. According to whom 'Truth' is Human truth.
', AT e ¢ 9% feReeRt e §7

(a) Jyotiba Phule/SH1fEeaT Eﬁ

(b) Mahatma Gandhi/®gTem et

(c) I. Krishnamurti/Sl. ‘@‘?SUT{ﬁ

(d) Rabindra Nath Tagore/3fergAT 2R

Ans. (d) : I UHd ¥ 7, T8 Ta5A19 TR &I 79 2|
FEHBR 3R STAHHR &1 I I ABOE T
Mot @ e AT 1913 # 3% F9d R T8H
foparm T

15.

Moral evils cannot mar the beauty of universal
creation, since it springs from the will of man
or of fallen angels, it merely represents a
privation_of good (Privation boni). Who says

s0? el o1 fer ‘iR (3TE)

AT g9 & digd @t ﬁ'%»_vf::ng Hehd

gﬁ% TE ngssr% o1 uferd éagﬁ =t TEBT-VIh
IqUA 1 T, T A (UTFAIH

=) T u%rﬁrﬁ:a m%:‘qm 2?

(a) Marcus Aurelieus/Tehd 3TRfeTag

(b) St. Augustine/d2 STLA

(¢) St. Anselm/TT THeH

(d) St. Thomes Aqvinas/d 9ME TfrhTd
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Ans. (b) : §Z SFTEE T Fal o & Afch e (3T
AT goE % Hisd B fGpd T W gHhd Fih 98
T A1 Ui Jaaiedl 1 gesT-vit § Sd gem 2, T®
Y9 % T B SR W B 2

16. The term 'Infosphere' is an idea associate
with :/ AR U ekl T ﬁmg

(a) Herman T. Tavani/gtH- 21, Zamt
(b) David F. Noble/sfes wh. T
(¢) Luciano Floridi/afamT waaiftdt
(d) Martin Heideggar/qﬁc:f FESTR
Ans. (¢) ; SRR Hh T2 HT f@R qEaH FAiial
|

"Women are not born, but made, "The above
mentioned statement has been asserted by :

g, Sfeeh ATt et &

IUHTH U T graT fera feRa?

(a) Mary Wolstencraft/a{t

(b) Simone De Beauvoir @ EEll

(c) Mary Fleming/ﬁﬂ At

(d) John Stuart Mill/SitH =3¢ faa
Ans. (b) : T & TSR & HIT & & 3 Ual el
Bt afesh Tl S 1 Ry & sieare sl fae,
e, qrfees R i sifidmard anifaes o

18. Which method of causal analysis of NOT
eliminative in nature? /T UTcHch &t

HA-W uglfa faeuares (gefiftmfea) wefa
w7 §?
(a) Method of Agreement/3T= faifer
(b) Method of Difference/safaieh faifer
(c) Method of Residues/31a3m fafer
(d) Method of Concomitant Variation
BLRICRE

g

17.

Which one of the following statements is not

correct according to Igbal /3'6%"?'[ ATEAR
o 9 | ®F-T1 e we T #?
(a) Creation and God are Ego-nature.

gy i Tver 37eH wHh 2

(b) Reconstruction of Islamic Truth
T A g

(c¢) Introspection is immedioacy
SiE)

(d) Islam believers in polytheism
TET, T 7
Ans. %d) : ShATA o AN SEIH, SHTaER § [&ea™
FT 8, I8 BT T I 2| I % SR ¥ HK
R et Wi ’
eyl arwifers 2|

2l TEAME T N gAEEA 2
20.  Some German Shepherds are not good hunters.
ToreRTdt

3]
All German Shepherds are gentle dogs.
AR A RS o K

Therefore, no gentle dogs are good hunters.
T 3BT f
Identify the fallacy that is committed in the
above invalid syllogism :_
SULTH Y AT AT | -4 AW 27
(a) Fallacy of the undistributed middle
3T ¥ A
(b) Fallacy of the Illicit Major
Y T IR (FeT-IR) A
(c) Fallacy of the Illicit Minor
Y A IR (AY-TE) AT

(d) Fallacy of Exclusive Premises
SRR

Ans. (¢) : $® A UHhS 3T R 781 2| G- SHIA

g fow 3 &1 g i off o g st fererd

ﬁgmﬁ?ﬁﬁuwﬁﬁawm(@qa)
|

21.

In traditional square of opposition, the
superaltern of the proposition, "Some scientists
are Mathematicians' are as follows—/GIAITd

fertrer et o wehare ‘ﬂgﬂ‘éﬁﬁm, RINCE S
T IUTSUT fAforiaa -
(a) Some Scientists are not Mathematicians

)

(b) All Scientists are Mathematicians
(¢) No Scientists are Mathematician

(d) Some Scientists are Mathematician
RS
Ans. (b) : TOOUd oY a7 H AR F@ Awi-eh
Tforas € 1 ST g el denfae Ty 217

22.  Which one of the following is a believer in_'Law
as command' o9 ‘

wq § frem’ § S @ §7

(a) H.L.A Hart/T9.TA.T. g

(b) Thomas Aquinas/2HH g

(c) J.L. Austin/S\.ud. 3R

(d) Jeremy Bentham/SR¥t =
Ans. (¢) : SI.UT. 3TRA e & &9 § fq § e’
A g1 efed ws fafew anffs o o5 fafy &
smavnes fagra & oruR fafr sfum @ efed w
SIRA 7SI G & TN T SR B |
23.  Which one of the following is not true

according to Kamandaka? /<hTHIGch ] AR

T o g e 72

(a) Mantra Shakti/3 916

(b) Prabhav Shakti/J¥Te ¥tk

(c) Utsah Shakti/38 ¥Ifth

(d) Daivi Shakti/2dt 31tk
|Ans. (d) : FIEH % HTHR <1 W T Tl ¢ | |
24. The political ideology known as liberalism is

Characterised by :/3qdIq & A
aTeft Treferes Tferemeerr e emerfurer fargrear
forer 82
(a) Individuality and freedom

Fafhehar R T

(b) Collectivism and equality/HHgaIx 3R GHF

UGC NTA NET/JRF Philosophy Paper II, (December 2023)

7

YCT



(c¢) Individuality and equality
Fafehebal ST TH
(d) Equality and freedom/SHTEdT 3 T

Ans. (a) : 3QXAIE & A T ST W aTel TS
FepREmT 3 aeifores FaRir qefhear St T @
IENEE KT e, Fedd S GaEar @t s
T T T SR A PERE 2

25. Who has asserted that reason dictates that

there should be a state of peace and that every
man should seek after peace?

W%aﬁ:ﬁﬂ%aﬁwﬁﬁ%ﬁﬁwﬁraﬁ

Tk STaET B SR 31 & fvh Ry wiifer @

AEATIT STt TfeT?

(a) Locke/dish (b) Rousseau/EHT

(c) Hobbes/g/sq (d) Kant/&I<
Ans. (c) : B9 7 8 a1 [ ah g YT &l 7
fr Vi % wh e N =T & = & wifd
a?raars%wé’fmf%m ST FIY A, T Ao
(1651) 21

Ans. (d) : THAHT B & fFU G Ao 3T
o9 YT A W I 7 AR Ber 1 SR
IRAVH F SFIHH I THT 8, T8 _YWE MM Ak
iR aRam e & Fhd @ g

29.

"The architype of extension and colour can
exist only in some other mind, and the objects
of senses are nothing but sensations combined,
blended together in a concrete nexus.'" This
view is adhered to/Jg

“foram 3T T T ATEWTEYT Shaer fRET 3T
T W ARGaH 1§ HehaT § AW S o famr
gaﬁrq@ S AiAfAT @G § &1 Ueh
atfirsier o wen @y Ry @

(a) Descartes/3hTd (b) Berkeley/ashat

(c) Leibunitz/efiafest  (d) Hume/&H
Ans. (b) : T BRI sbd H @ (TR SR T
ST ot a1 w1 H fecem ® gl 8 3R
et & fovg o 3R T afes oftafed gaeT 2
T 39 ey § g B 2
30. Which of the

is

26. Who maintains that the nature of social . following N the correct
contract indicates that absolute monarc is conversion of tﬁhe %roﬁgosmor-n& No po lltlcmns
mconsnstent with c1v1l society? are idealists "

Wﬁraguﬁmaﬂ?ﬁ%ﬁﬁ i T'T";m%'? srregtardy %
WWWW&;WM%7 “ﬁ'_"ﬁ“% , .
(a) Hobbes/gs& (b) Rousseau/&gt (a) All idealists are politicians
Locke/@ife d) David Hume/SfdE

Ans. (C()C ) 3;?{; fﬁ Trrr(?f)?ﬂ“cﬁa;;[ qﬁug% EEF\ (b) No idealists are politicians

Wia%aﬁwqiw?f 3 ¢ f Tﬂt (c) Some idealists are politécians

27. 'Individual cannot attain the good in isolation, (d) Some idealists are not politicians
but only in society, the mission of the state is to T F

romote virtue and happiness' is the statement : ; —
f;f/ Wﬁpﬁwﬁmaﬁm&(b):ﬁﬂﬂﬁé TS 81 & deh aed g
TR T WHAT &, SO AT T, T ar || TOIGY el 7 2 W 9Red 2
firs‘l:r‘{:l{guﬁ mewﬁqm S 31. XVhICh one(e1 of t?esfolliorivllln%{ stz;lteme"nts is NOT
(a) Aristotle/3T&] (b) Plato/=iet rue according to 5. Rachakrishnan N
(c) Socrates/ghUd (d) Protagoras/‘»'i ZTIIH EEZ?WEW %7%; 3 Frr & &
Ans. (b) : Uﬁaﬁ & e 5 &l (a) Ultimate reaiit i
AR =Ah HHrS @bl y is Absolute/T0Hdq fder
%ﬁm ﬁ% b i’“e[%fﬂ Wé‘QI T ;_([Rr rf;ﬂa (b) Absolute reality is pure-consciousness
m 7o éﬂ%cf[ ;g _29[8 éwairq iﬁq%l"oﬁ (c) Absolute is Pure-freedom
’ ’ , IS 3 (d) Absolwi::r is personal Go§

28. From any true substltutlon instance of a foruer g9 SRR 2
propositional function, we may validly inter the
existential quantification of that propositional ||Ans. %d) TY. TIHVE % FIER U TG SRR
function. This effect comes from which . FI 9T TRl 21 U FHI 2-UHEd Rue @,

quantification Rule

e Wiqeemue SeTedr 9, B9 umﬁnm W
I AehaTeRT Held T TR
I W HHhd &, T§ U, fhE aReme
forom & PR e 3

(a) Universal Instantiation/@ra i gEIdRoT

(b) Universal Generalization

(c) Existential Instantiation/3R&dcacteh FETdIhU

(d) Existential Generalization

Wﬁ*ﬂ@é’ﬂ 2, fuer o fos T 21

32. According to Kant which of the following is
accompanied by an appropriate degree of
happlness for perfectly good universe?

Tt

HIF-TT guie:
ﬁmm g foTT ge=Er st Sugh
(a) Moral will/Afes s=sTerth
(b) Political will/TsHfde =T3I(h
(¢) Good will/dfe=s1/Teferet
(d) Human will/aeT ge21eTh

tﬂﬂT‘@fﬂT‘F
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Ans. . FE & wle=zn :
el B S S SR
a3fq 4 forterard) Hifa dmier & = faeg wie F vl
ﬁgwgémﬁﬁmﬁmaﬁﬁﬁamwﬁm
el ST 2

33. Who said that Maya is 'Principle of Cosmic
Error'?% gl ¢ T wmn gq &
T ?
(a) Vivekanand/faemg
(b) Rabindra Nath Tagore/TaIge 2T
(c) S.Radha Krishnan/TH. T
(d) Mahatma Gandhi/®gTeT e
Ans. (a) : &M< 7 F 7 5 °ET TRACET gH H
Tg 2l
34. Ludwig (Wittgenstein terms philosophy as "a
battle against the bewitchment of our
intelligence by means of language" in his book.,

e | g9 @l
AT o WIEAH | TN dfeg & GHiEA & foeg
Herd o ® | oelTd 87

(a) g;%(;aqtus—Lo%ico-Philosophicus

(b) Philosophical investigation
fhaTafthea sae g

(¢) On certainty/ 3 A
(d) The blue and Brown Books
g & Ug FR=A g
Ans. (b) : TSl fGesi=erEgd 39 ‘ToheTTEthahel
UK R S M QR S
e & foeg 9o % &9 § =@M 21

35. That the world history is in the process of
working out the knowledge of that which it is

gotentially' is a view held by

T &, T fava
39 qH W aehTad o W wiRaT § @ S
Oy Ifaftea §''?

(a) Aristotle/3T&]

(b) Friedrich Schiller/%sR@ fTer

(¢) G.W.D. Hegel/sft. g5 € &me

(d) Arthur Schopenhauer/?)ﬂ%ﬁ NIRCHER

Ans. (¢) : Sf. & A & P g fk fave
W“Wﬁﬂ%mﬁmﬁésﬁsﬂﬁ
sffifed 217
36. According to Jainism Aprigrah means?
AIAR T 3ef
(a) To lead a celibate life
T SEEN &1 Sfted S
(b) Not to injure only living beings
Sfiferd ' 9 9%
(c) Renunciation by thoughts words and deeds
foram, vz (amoft) ik &4 =m
(d) Not to steal/=R T HEAT
Ans. (¢) : 59 ¥4 & safag &1 oY foam, v=s
(@i R H4 T @ 21 SF e § feeEmeRe &
TRET S19REE 81 S &9 % IR qU8 1 v, Wy,
&Y, W AR T A GHE F GREAT T AR 4
T @ ot sTaRe A eET w8

SR | |58 2 S e o @ A SrEROTE @ e

37. Who among the following propounds
accidentalism (éadicchavada)?
TEesare i 0 | fergen gRT wfeaea &2

(a) Mimamsa/9®@1  (b) Vaisesika/d9i3eh
(c) Charvaka/=dTeh (d) Nyaya/=mg
|Ans. (c) : TEBAR FHish FN SfTed 2| |
38. 'All the waters of all the seas are not to be
compared with the flood of tears which has

flowed since the universe first vy%s;", this is
related to the idea of :/' &t [t st

Co) TG R TW A W T FA W
a‘r%%uﬁwﬁwwmﬁ%’w
ferment sraemuT @ Heifie &7
(a) Astang Yoga/3T8T RIR
(b) Sarvam Dukhanﬂﬂ&{ en
(c) Law of Karma/&H &1 f=m
(d) Charvaka's Hedonism/3mae & RILEEIES
Ans. (b) : T T & T ST HI 3T &t 39
are (%m%@aﬁm%m@aﬁwm
T 2 98 ‘dugE:q SFURuT ¥ Ge 2
39. David Hume agrees that genuine knowledge

must be self-evident, but he finds no such
which
Bk
T &l -

L - o T
I St SRS

knowledge anywhere except in
merely analyses is own concepts.

Tg ¥ T g
FE AL € W kA
e T B
(a) Theology/ﬂﬁ'%‘lTF:r
(b) Mathematics/T0Td
(¢) Metaphysics/SI¥ifeeh/ qeriaiar
(d) Epstemology/I-HIHIET
Ans. (b) : SfI€ gH I8 WIHR Hd & foh FHIIS 1 h
o T 3 AR S 9 G 9 T & R e

BT 2
40. St. Anselm offers his ontological proof for the
existence of God in his work : QFQF!T Ut
frm w™T ® dver & o &% fog
AT WHTUT Wegd i §
(a) Monologium/FHTet s
(b) Proslogium/STEAfsrem
(c) Summa Theologca/T AT TR
(d) Cur Deus Homo/&IR R g
Ans. (b) : 92 THH AT A JEAogd § 39 &
e & foTq SerareaTelsh T0T & B 2|
41. Who among the following philos%?hers are
proponents of Sunyvada? /Idlg
aTshI‘)'“—‘m frrafefiaa 8 @ o 872
(A) Sri Harsha/sft 7o (B) Nagarjuna/?l"'l’lﬁ'—[
(C) Brhaspati/gggafer (D) Chandrakirti/sigehite
Choose the correct answer from the, options
given below :/ﬁé feu @ Tereheat % 'g wEr
ENACIRCPE)
(a) (A) and (C) only/Had (A) 3 (C)
(b) (B) and (D) only/ %det (B) 3R (D)
(¢) (B), C and (D) only/&aa (B), (C) 3R (D)
(d) (A), (B) and C only/ Faa (A), (B) 3k C
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Ans. (b) : IJFER & FUEE IRIWH ATTGA R
T 2l

42. are

Who among th i i
considered r%itionaelistfsoi}l/%nl% U
[ BT feieeh AehaRgaTd T W &

(A) Berkleylg'éfn_c}f (B) Descartes/S&hTe
(C) Liebniz/ei&=et (D) Spinoza/fa=sw
Choose the correct answer from the, options

given below : feu @
I @l T

(a) (A) and (C) only/ad (A) 3 (C)

(b) (A), (C) and (D) only/ Fad (A), (C) 3R (D)
(¢) (B), (C) and (D) only/&aa (B), (C) 3 (D)
(d) (B) and (C) only/ %haa (B) aﬁx (€)

o)

Ans.
=

Sl =

43. Which of the following arguments is correct
according to Samkhya phllosophy glven for

existence of pursuit.
% i) ﬁw o

|iEm g9 & ATER

e W& €2

(A) Sanght parathatvatlﬁﬂﬁwﬁaﬁl\

(B) Trigunadi Viparyayatfﬁl'gﬂﬂﬁ{ farotama
(C) Bhedanam Pravirmanal/‘ﬁﬂ'l?l‘{ﬂﬁq'ml'c[
(D) Kaivalyartha Pravirteh/dacaref quﬁ‘:

Choose the correct answer from the_ options

given below : few @

ST T T9 it

(a) (A) and (D) only/®dd (A) 3 (D)

(b) (A)and (C) only/ Haa (A) 3R (C)

(c) (B) and (C) only /&ad (B) 3 (C)

(d) (A), (B) and (D) only/&ad (A), (B) 3 (D)
Ans.é(*) : 59 T B AN ZN i § @l L o
T R

45. Substance Dualism, also referred to as

Cartesian/Classical dualism, asserts that there
are two Kinds of 'things' Descartes' main
arguments in favour of dualism are

£ & w®q " oft
Hefq fpa ST 3, T & TR T A YT
ﬂﬁ@?ﬁ%léﬁﬁlﬁ%wﬁmwu@a&
frefofiaa & @ o §
(A) The argument from doubt
T W AR
(B) The argument from indivisibility
Srfararsaar ©
(C) The argument from irreducibility
I w
(D) The argument from category error
T
(E) The argument from scientific evidence
8T uT
Choose the correct answer from the, options

given below : ﬁ'l{ Ry
I @l =TI

(a) (A), (B) and (C) only/&ae (A), (B) 3 (C)
(b) (B), (C) and (D) only/&ae (B), (C) 3 (D)
(¢) (D), (C) and (E) only/3& (D), (C) 3N (E)
(d) (A), (D)and (E) onlyma (A), (D) ¥R (E)
Ans. (a) : 5 3R, ¥ TR & € & &7 F A
wafild fha ST @ T 2, b o A W Y Al 2
3qae % g ¥ bW b gET db Gig W anaTﬁa
TSIl W SR 9 3 I W SR 7 2 |

46. Which of the following %qrusharthas are
included in Tri-Varg Ttetaa

¥ geuret grifiret §2
(A) Moksha/mrer (B) Dharma/erd
(C) Kaam/&q (D) Arth/a7ef

Choose the correct answer from the, options
given below : T fereReat

ST T T HITT
(a) (A), (B) and (C) only/&aa (A), (B) 3 (C)
(b) (B), (C) and (D) only/Fad (B), (C) 3R (D)

44. Whtichl (;f tl:e f(}llonglﬁg' are included asﬁtlg& (¢) (A), (C)and (D) only/m (A), (C) 3k (D)
central tenets of budhisism, . (d) (B), (A) and (D) only/&ae (B), (A) 3 (D)
IR TR W W W T DR by T B o, o A W ]
(A) Sanghatvada/gemaaTe 47. Which ?f the following are included in
(B) Pratitya Samutpada/;l?“?ﬂﬂq?qla lél;?l((li?,sll_l /ﬁwﬁ%@—,[vmta Elev%l %r%agzﬁomeah%
(C) Anekatmavad/3TeRTcHaTS o TehTSYT o | I 2
(D) Anitytavad/3T-redrg (A) Education/fS181
(E) Astangyoga/aTE'i'lT =T (B) Fearlessness/f-efrar
Choose the correct answer from the_ options ©) Non-Stealing/aT!ﬁTr
given below : T ferehedt (D) Physical Labour/¥T{Res 217
WWWW Choose the correct answer from the, options
(a) (A), (B) and (E) only/éﬂ?T (A), (B) 3R (E) given below : T Terameat
(b) (A), (B) and (C) only/&ad (A), (B) 3 © ST T T HITTT
(¢) (A), (B) and (D) only/&ad (A), (B) 3R (D) (a) (A), (B) and (C) only/&ad@ (A), (B) 3R ©
(d) (C), (E) and (B) only/&aa (C), (E) 3R (B) (b) (A), (C) and (D) only/&ad (A), (C) 3R (D)

Ans. (c) : SHAR, FEHIARE AR AH@EER dig a8 (c) (A), (B) and (D) only/aa (A), (B) 3R (D)

& Hsg e & &9 § giAfAd g1 (d) (B), (C) and (D) only/&a@ (B), (C) 3 (D)
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Ans. (d) : T T &% THIEY ad § f9Far, %9 3R
RS o TR 81 W % THeg a9 §-sre, g,
Y, Feed, EFE YRR gM, 3[R, a9 wgdasd,
T e, xa%{sﬂqawfﬂmé

48.  Arrange the following in chronological order in
accordance with Jain Philosophy

W fem &\ S oud & gEr wé
Wﬁmﬁmgrq I

(A) Asrava/3TEd (B) Nirjara/fasiar

(C) Bandh/a=1 (D) Samvara/@ax
Choose the correct answer from the_ options

given below : RILey

I Rl TIA

(a) A,C,D,B (b) A,B,C,D
(c) B,C,A,D (d A,D,B,C

Ans. (a) : SF €5 % IFIER TE HHRA o-ITEa-aH
q%‘f-ﬁ%%

49.  Which of the following statements are true with

reference to Samkhya Philosophy? /€&
& Hedl ¥ frafefgs § § SF-11 %o 9T 87
(A) Prakriti is root cause of the world.
Tova T Yot HIUT YT &
(B) Prakriti is _intelligent conscious
principle fagma e
(C) Prakriti is the first principle of the
universe SIS <kl Agctl
(D) Prakriti is manifested state of all effects.
f oY STk ST §

Choose the correct answer from t‘he‘o_gtions

given below : few @
ST ohT T TG

(a) (A) and (C) only/Fae (A) 3R (C)

(b) (A) and (B) only/®dd (A) 3R (B)

(¢) (B) and (D) only /&9 (B) 3 (D)

(d) (B) and (C) only/Fae (B) 3 (C)
Ans. (a) : waﬁ%wﬁﬁwmm%%&amw
FT TH & I TP FaIve H T fGzid 2

50. According to the Gandhi, which_of the
following is the supreme end? % AR

Taitea e o &7 ”
(A) Morality/fceRar

(B) Aparigrah/3Tafiarg

(C) Truth/d=x

(D) Non-violence/3Tf&dT

(E) Self-Purification/3TTeH-J[fgahTuT

Choose the correct answer from the, options

given below : ﬁ'll‘ Rl

I T TA R

(a) (A) and (E) only/&aet (A) 3R (E)

(b) (C) only/Faa (C)

(¢) (E) only /&aa (E)

(d) (B) and (D) only/3dd (B) 3R (D)
Ans. (b) : M & FER Taled @ed 9 g1 T FH
W%m%mmmﬁwqﬁﬁmsﬁtm
59 Tramre @el, el =i G H Gie H ETIHAT T

and

gt | 52.

SR fe=m

51. If A, B and C are true attachments and X, Y

and Z are false statements, which of th

following is true? A, B C 8T hdA g
AR X, Y 3R Z 38T = ¢, o fafafea o
ARAATE

(A) (AX) Vv (B.Y)
(B) ~(XVZ).(~XVZ)
(C) ~[(A.B)v~«(B.A)]
(D) ~{~[(B~C)V(Y.~Z)].[(~BVvX)V(BV~Y)}
(E) ~[(AvB).~(BvA)]
Choose the correct answer from the, o tlons
given below : /ﬁé Tﬂ{
I T ==
(a) (A) and (C) only/%af—r (A) 3R (C)
(b) (B) only/Fad (B)
(c) (A) and (D) only /#ae (A) 3R (D)
(d) (C)and (D) only/&ad (C) 3R (D)
Ans. (b) : AT A, B 3R C T &9 8 3R X, Y 3R Z
T FI 8 @ ~ (XvZ) (~XvZ) T BT
Which of the following are included among the

central tenets of John Rawl's The%;y of
Justice? b

%W%Wwﬁw&qﬁa%’

(A) The Fairness principle/f=sagrar =ht fagia

(B) Retributive justice/FfarahiTeren —=mer

(C) The difference Principle/3ia¥ ahT fagia

(D) The veil of ignorance/3TATAAT <hT tlﬂf

Choose the correct answer from the, options

given below : %

ST T T HITTT

(a) (A) and (B) only/%aa (A) 3R (B)

(b) (B) and (C) only/&de (B) 3K (C)

(¢) (A), (B) and (C) only/&ae (A), (B) 3 (C)

(d) (A), (B), (C) and (D) only

(A), (B), (C) 3R (D)

Ans. (d) : Fegerr &1 g, SfderEs =, 3ia &
|H&|ﬂﬁ(ﬂﬂ|ﬂd|mqﬁaﬂw%mﬁm%
F=g 7 § gfeafer 21

53. The opponents of verificationism place these
objections to refute this pr1nc1ple

TS 6

o g s=r-ar=m emﬁlm EXG RS
(A) Itis not a tautology/E TA&(th &l K}
(B) Itis not contingent/Jg 3TTeh R =r€r %

& T A

(C) Itis not empirically verifiable

TE AT STUR W FeATI o AR T &
(D) Itis not theoretically verlﬁable

B Y W FAUT % AT T8 S

(E) It is intuitive/Tg 37

gCll;(e)I(:s% etll(::!v co/r;'lheét answer from thea O-gtl%%
I hT SI9 RIS

(a) (A) and (B) only/av_clﬁ (A) 3R (B)

(b) (B) and (C) only/&aa (B) 3 (C)

(c) (A) and (C) only/ad (A) 3 (C)

(d) (D) and (E) only/ae (D) 3R (E)

Ans. (c) : Wﬁa\%ldu%ﬁ@m?ﬂww
%mmﬁmméﬁs%mﬁ T =
SFNEH SR R oA & A T8 2|
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54. For Spinoza everything is substance or requires

substance as its basis be ause it has attributes

YT

sﬁ MR & ®7 g picd) anaww % e
TR faferiae favreand &
(A) Only Extension/ehaie? feram
(B) Only Thought/shaeT Ta=mX
(C) Neither Thought nor extension

7 foom efw 7
(D) Both thought and extension

farem &1 foream St

(E) Attributes are infinite but only two are
knowable by us humans.

g T HEl o forg s | S @ %

Choose the correct answer from the 0 tlons
given below :

I HT oA

(a) (A)and (E) only/%a (A) 3R (E)

(b) (B) and (C) only/&dd (B) 3 (C)

(¢) (D) and (B) only/3dd (D) 3 (B)

(d) (D) and (E) only/3de (D) 3 (E)
Ans. (d) : TIHST &% FER Jod o< 509 § 379al 34
AMUR & &Y § FoF &I favaehdl 8 Fifh g6k (R
3R AR St § qun foRiaTe ed § W &H Aeel %
fore sod & & 3= 81

55. Who among the following has supported social
retotan 9 foa

contract Theory?
T o Tagia’ o1 awed= feman
(A) John Locke/SiTT &ifeh (B) Berkeley/siehet
(C) Hobbes/gsq (D) Rousseau/&@T
Choose the correct answer from the_ options
given below : RILey faercur o
ST T o9
(a) (A)and (B) only/érola (A) 3R (B)
(b) (B) and (C) only/&ad (B) 3R (C)
(c) (A), (C) and (D) only/3a (A), (C) 3R
(d) (B) and (D) only/3dd (B) 3 (D)
Ans. (¢) : S i, Eﬂwwwfrwmwam £
F1_Tweda foan) 39 faera & SFER, A 9w
ﬁ‘wsﬁ%%ma@ﬁ% ﬁw%#ﬁmﬁimﬁ%
forel sl Tnfd e 2

56. Which of the following statements is_not true
according to Plato's Philosophy?

o frmfeiaa § @S- we g TE 82
(A) The 1deal society forms a complete only
TehdlT ahl WTW ahidT &

(B) Plato su ports right tg private property.
e a:%am?r wufe o 3T &1

(D)

HIAT Y
(C) The state is an educational institution as
the instrument of -civilization./E¥IdT
SUHUT & &I H T Teh Heer ¥
(D) Laws are necessary_to the realization of
our true good. qH
% ToTT I STTeva §
gCll‘llggs% etllnsv corre§t answer from theao_gtlons
Wﬂa‘r?ﬂﬁ

(a) (A) and (B) only/3dd (A) 3 (B)
(b) (A), (C) and (D) only
(A), (C) SR (D)

(¢) (B) and (C) only/3dd (B) 3 (C)

(d) (B) and (D) only/3dd (B) 3 (D)
[Ans. (*) : 39 T%9 H AR Feaib § L H & 81 |
57.  According to Hume, the association of ideas is a :

A & AW,

(A) Logical Necessity/dTfehen Stf=rariar

(B) Psychological Necessity

CIECIn)

(C) Sociological Necessit

HTAIME TS Wﬁlﬁ'ﬁ%T
(D) Mathematical Necessity/TUTcfter 21f-ramtar
(E) Emotional Necessity/EaTreder Stf=ramiar

Choose the correct answer from the, options
given below : Ry Tereheut
ST hl AIH
(a) (C) and (D) on1y/%—o|r—r (C) 3R (D)

(b) (B) only/Fad (B)
(¢) (E) only/&ad (E)
(d) (A) and (B) only/&ad (A) 3R (B)

Ans. (b) : &F % ITTHR FAIGRIAS HAaRd A

= é) |

58. Identify the fallacy in the given statement that

is-'You must agree that Times of India is best
daily newspaper in the city because seventy
percent people read it. e

W%q%asw - gﬁwm %

Tt &

uagrﬂ%ax@w% aa‘r%wuﬁwgé;ﬁﬁgw
|

(A) Argumentum ad misericordiam

(B) Argumentum ad Populumﬁﬁﬁﬁx‘rﬁiﬁ gﬁ'ﬁ
(C) Argumentum ad Baculum/qfE-Ifth

(D) Argumentum ad Hominem/ﬁf@?—gﬁ"ﬁ
(E) Argumentum Ad Verecandium

[N

Choose the correct answer from the, options
given below : T fereReat

I T AT HIAT

(a) (A) and (C) only/Faa (A) 3R (C)

(b) (B) only/Fad (B)

(c) (A) and (D) only/&ad (A) 3R (D)

(d) (C) and (E) only/&aa (C) 3R (E)
Ans. (b) fea gu_ara | oS g deharm @ f%

Y TH e S IR fh TR Ak e R
oY 37T IEEN § i T AN Ak gHh! Ted ¢ |

59. The categorical syllogism having major terms
distributed in the conclusion but undistributed
in the major premises is invalid and having the
fallacy known as : TR,

g@n’d forerd o =T €, AfeR v e
7T B, AT § AR 3;113 frafafaa aw §
(A) Fallacy of Illicit Major/3TIel & US-EI%
(B) Fallacy of Exclusive premises

IeTeRt
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(C) Fallacy of illicit minor
ST LT AT WU Y-

(D) Fallacy of undistributed middle
AT B~

(E) Fallacy of Four terms/ﬁlﬂ'ﬂlﬁ LS

Choose the correct answer from the, options
given below : Rl Terereat

3T T TIA :

(a) (A) only/Had (A)

(b) (A) and (B) only/ddd (A) 3 (B)

(¢) (B) and (C) only/3&d (B) 3R (C)

(d) (A) and (D) only/&aa (A)aﬁI (D)

a) : (eqiee =mgee Sed qerue e |
e FE, SR 8 st @ ane § 3ﬁ¢
sﬂﬁ I8y T U2 99 2|

60. In Kant's transcendental procedure, the unity
of self-consciousness is presupposed by the
categorles as the categorles ar presupposed

- ferareat ‘é’& ué—w%q?r
aa% ARSI gl

Ans

fareren et g vd-

(A) Intuition/37d: UFT

(B) Experience/3T39d

(C) Understanding/Tehdfes

(D) Reason/¥=T (fi51)

(E) Holy will/afast Gereq

Choose the correct answer from the_ options

given below : Ry ferereat &

IR R <& :

(a) (D) only/&dad (D)

(b) (B) only/&da (B)

(¢) (A) and (C) only/&ae (A) 3 (C)

(d) (A) and (B) only/&aet (A) 3R (B)
Ans. (b) : Waﬁsﬁﬂﬁﬁmﬁmddﬂlﬁw
EIE fepedt gRT ‘5“[ @ Hfead ¢ S 6 qfs-faed
RGN 11# Hfeqd 8

61. A pattern of mductive inference in which it is
concluded that when one phenomenon varies
consistently with some the phenomenon in

some manner, there is some causal relation

Ans. (b) ammraqaﬁangmaﬁra%:rwmw%ﬁm
6 59 FIE TH T 3 T F I &

wwm@ﬁ%ﬁﬁﬁm%ﬁ?ﬁ:ﬁm

HROTHS Feae gl 34 WWWW%

62.

Who among the following classical Indian
thinkers belop%to Nya%a School?
frefafes @ 9 &9 ¥ ard

e o=

=T 7d | g 87

(A) Jayant Bhatt/STEd 93

(B) Dharamaraja Adhvarin/eTHST 3TeaR=

(C) Gangesa/TirgT

(D) Vimal Kirti/fawer st

Choose the correct answer from the options

given below : Ry ferereat o

I AT oA

(a) (A), (B) and (C) onlyma (A), (B) 3 (C)

(b) (A) and (C) only/3dad (A) 3 (C)

(¢) (B) and (D) only/&aet (B) 3R (D)

(d) (A), (C) and (D) only/&de (A), (C) 3R (D)
Ans. (b) : IRNT IMEAF fods s&q 95 AR TR =9
A9 9 gafed 21

63.  Which of the following means of knowledge are
accepted by Nyaya school? i)

¥ FE % WEE = 7GR wienrd §7
(A) Perception (Pratyaksh)/qcxel
(B) Inference (Anuman)/3TJH
(C) Comparison (upman)/3UHTA
(D) Postulation (Arthapatti)/\?rT%ﬁ'Qﬁf
Choose the correct answer from the, options
given below : ALY Tereheat
ELRECIRCPE] :
(a) (A), (B)and (D) only/%fﬁl?[ (A), (B) #HR (D)
(b) (A) and (B) only/&ad (A) 3R (B)
(¢) (A), (B), (C) and (D) only
A (A), (B), (C) 31 (D)
(d) (A), (B) and (C) only/&ad (A), (B) 3R ©
Ans. (d) : 599, A 3N IUAE FH 5 HEH =T AG
i Ffﬁ%r&f 2l

between the two phenomena is called. 64. Which of the following schools of thought
ANHATHS: I T T8 F9AT g o maintain the absence (abhava) ﬁis known
foreme G € Foh, S hIE/Teh W, 3T U through anuplabdhi
% WY G % WY F qwel § ket “"Ja'd'wfa%%a‘“'aaﬁa@lwgm
e €, 31 dFl wedren § H® wwuneT® ““’"Cﬂ.lﬁT% ’
TS BT ¥, T8 e S § (A) Mimasa/Hian
(A) Joint Method/&g<h farfer (B) Myay‘a/?mf )
(B) Concomitant Variation/AgTmHt ufRead= © Ad'valt.a Vedanta/375d o2
(C) Method of Residues/3/a9Is fafer (é)) Vaisesika/a9Tieh ) .
(D) Method of Difference/saer Tafer hoose the c-orrect answer from the_ options
(E) Method of Doubt/G¥g Tgf %;;‘%?%‘;V;W T fereRe
Choose the correct answer from the, options 5 sk
given below : T feeRet (a) (B) and (C) only/ (B) 31X (C)
I T SO AT ¢ (b) (A), (B) and (C) only/®eTc (A), (B) 3 (C)
(2) (A) and (E) only/&aa (A) 3% (E) () (A)and (C) only/Fad (A) 3R (C)
(b) (B) only/&dad (B) (d) B), (C) and (D) only/&9 (B), © 3 (D)
(¢) (C) only/&ad (C) Ans. (c) : UEMET 3R 3A5d dad GHEE & Ad 8 (%
(d) (D) and (B) only/&e (D) 371 (B) 3T I ST ET ST STl 2 |
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65.

Which of the following classical Indjan_ texts
belong is Nyaya school? Ta T:é?
T AR IS T= =1 W & Jraferd 872
(A) Mandukyakarika/RTUgaRT ShTIiehT

(B) Bhasa Pariccheda/sToT Ui=sg

(C) Nyayamanjari/=aTe st

(D) Nyaya bindu/=Ir&ferg

Choose the correct answer from the, options
given below : Ry Tereheut

I T TAA I 2

(a) (A), (C)and (D) only/%alﬁ (A), (O 3R (D)
(b) (B) and (C) only/#aa@ (B) 3k ©

(¢) (B), (C) and (D) only/%alﬁ (B), (O) 3R (D)

Codes/<h2e :

A B C D A B C D
@ 1 2 3 4 b 4 3 2 1
() 4 2 3 1 d1 4 2 3

Ans. (¢) : 92 GHTH 39 JHN &-

Tqi-1 =11
AT TS =
faqda e
fdea wfaarg TieL
IR THTRL

68.

Match List I with List II/g<-1 & 9t G-I
1 e Wit

3 List-1/g=h-1 List-I1/g=H-11
(d) (©) and (D) only/ ©) i (D) - Theoc;*y Philosoph; School
AnS. (b)é N 3 ng I 9] qdc ddT <FiI qsf A. Theory OfRelatIVIty 1 Charvaka/ﬂfalfa?
AT H § 14 & | %Knowledge/ﬁﬁ
66. Match List I with List IT qroerr o g
[IE“'I a?-‘HT%T [IE“'HW e 'EI§|| q B. |Materialism/9lfdearg |2. |Nyaya/=I&
List-I/ H«.\dl'l List-11/ !c\ldl-ll C. |Logical Realism 3. |Jainism/s9 €94
Theory School of Philosphy Terefare
A. |Prakrti Parinamvada |1. |Buddhism D. |Triputi- 4. | Prabhakar/SHT5H
drg Zei pratyakshvada
B. |Brahma Parinamvada |2. |Samikhya/S& ERCIR I
EEl Choose the correct answer from the_ options
C. | Arambhavada/3TRa1g| 3. [Nayaya/=T2 given below : few @
D. |Anitya Parmanu 4. |Ramanuja/THTIS ST el =Ta
Karanavada Codes/<he :
M AT HRTE S A B C D A B CD
Choose the correct answer from the_options @1 2 3 4 b2 1 3 4
given below : few @ () 4 3 2 1 d3 2 1 4
ST T o |Ans. (*) : 39 99 %I AR Gedis ¥ a3 & 81 |
Codes/32 : 69. Match List I with List I1/9=-I1 o a1l FA-11T
A B CD A B COD w1 T it
() 24 3 1 (b)y 312 4 List-1/g=H-1 List-11/g=h-11
(©4 3 2 1 @1l 2 5 4 Theory Philosophy School
Ans. (a) : T gHAT g9 bR -
A. |Charvaka/@m@i® | 1. Apurva/aTEL'q;
Geft-1 G-I .
THf gRuTHETE i B. |Jainism/SH-389 |2 Astangikmarga
ERIEIUILEIC TS .
STERE =Y C. %lg(é}l;%m 3. |Hedonism/q@dTa
T THIIHRUTETE g v ! .
67.  Match List I with List IT D. |Mimansa/HIHIE1_|4. |Tri-ratna/FRe
W—I%W‘Hﬁ-l]ﬂﬁﬁﬁﬁﬁq : Choose the correct answer from the_ options
- given below : RILey
List-1/g=it-1 List-1I/g=A-11 IR T T F
Theory School Codes,/ &< :
A. |Anyathakhyativada 1. |Prabhakar A °i3 C D A B C D
_ i i (@2 4 3 1 b3 1 2 4
B. |Viparit Khyativada 2. |Kumarila () 4 3 2 1 d1 2 3 4
T ST __||Ans. (*) : 39 I I ST FedihT 9 SR H A
C. Qﬂ%ﬁ‘gggga 3. |Shankara/RIRT | 70 ™ Match List I with List II/G=H-1 9% |re -1
S Wwiﬁﬁm{: .
D. |Akhyativad/3/@qa@ |4, |Nyaya/=md List-1/3f-1 List-I/H-11
. Book/9&ich Author/ai@e%
Choose the correct answer from the, options A
given below : T faeRet A. |The Republic 1. | Aristotle/3T&]
ST T ST f3 Rafscr
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B. |Fragment on Robert Nozick C. Phllosophy of 'Other’  [3. |Nietzsche/ATedl
Government Tee AT 3 ‘T
el c D. |Critique of 4. |Levinas/cifaHrg
C. |Politics/TeTcoR Plato/wi<] reprentationalism
D. |Anarchy, State J. Bentham HieH A
and utopia/ Ei Choose the correct answer from the, options
we te Feifar given below : faw @
Choose the correct answer from the, options ST R T El?llﬁll‘{
given below : KLY Codes/<h< :
ST T TG I A B C D A B CD
Codes/&2 : (@3 2 1 4 (b)y4 1 3 2
@ 3 2 1 4 b1 2 3 4 Ans. (c) : 98 AT 39 TR &-
()3 4 1 2 d4 1 3 2 geit-1 (A) gei-11 (fremer)
Ans. (c) : 98l HOH 39 JHN - fopfeeh off Temg 29 Hrewr
gAfi-1 -1 TEEE B Hrer-uidt
T GieEd fiherast e ‘ered IIEEIG]
fa Rufseres el fopfea ot Roerewform Tf
e S e S, e 73. Match List I with List I1/=0-1 % @rer Gei-11
uifetfeers 3 w1 e it
S R U FLIf e Hifsreh List-1/G=A-1 List-T/=A-11
71. Match List I with List IL/g=-1 & @1 geit-11 Book/J&Th Author/cTE
1 firer it A. |Leviathan/aar@g=|1. |John Locke/SIH didh
List-1/g=l-1 List-11/g=i-11 B. |Atheoryof  [2. |H.L.A. Hart
Philosophy/2Teif~eh Theory/&!@'l?f Justice/ 3% TE.TA.U. 8
A. |Pythagoras/9TIgTIH 1. i’]lenum&
acuum C. |Two Treatises on [3. |John Rawls/Si- Ued
o) TS a?:!zﬂ? Governmenvt
B. | Anaximander/T-edHueT | 2. |Flux/Fcted E‘;é« clRY 3
C. |Heracleitus/@Uaemgied (3. Apeiron/‘lﬁﬁ:f =C = _
D. |Democritus/SHIfH |4, [Numbers/Fad D. Ea\e):v/fé)ncvepto 4. | Hobbes/?lsd
Choose the correct ]%llll_swer from the_ options ATF
given below : Rl :
=T WW Choose the correct answer from the, options
ot given below : faw @
Codes/<he : IR HT IS
A B CD A B CD Codes/n< :
(@ 4 3 1 2 b6 3 2 1 AR C D A B C D
©3 1 4 2 4 2 1 3 @4 3 1 2 &1 2 3 4
Ans. (b) : & [ 39 YK &- © 2 3 4 1 @1 4 3 2
gefi-1 TEft-11 Ans. (a) : 981 GO 39 TEN 8-
qref-Teh fagT= geit-1 -1
"{Wﬁm - @TF{ a'a'rqq;[ g‘f&q’
ST i N AN 3 Sew ST Te|
ST i AT €S T ey 3 TaHe ST il
72.  Match List I with List II/g=i-1 & 9 Geit-IT e e 3ifF of TTET, 2

1 e Wit

List-1/g=h-1 List-1I/g=A-11
View/TR0d Thinker/fSeeh
A. |Critique of 1. |Merleau-Porty
Enlightenment oreAl-giady
fopfea oi% wAemg 29
B. |Embodied 2. [Rorty/Af
Consci0u§ness
TEEE HTET

74.

Match List I with List II/g<-1 & 9 Geit-I1
1 fireT Wit

List-1/g=h-1 List-TI/g=A-1T
Theory Concept
A. |Active Voluntary |1. |Directly causing
Euthanasia death wit}%(;ﬁt the
TR consent of the
gment/ % Hedrd
fomT g SRa s
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B. |Active Non 2. |Directly causing
voluntary death with the
Euthanasia/gfshal consent of the

T gftlent/ % weHfd
1Y gog HIRA BT

C. |Passive voluntary |3. |Withdrawing life-
o e | |ith the Sonsentor

the patient

& qeET/H
BIEERGER CETRE]
gl

D. |Pasive Non- 4. |With drawing life-
voluntary sustaining measures
Euthanasia without the consent

TBYY of the patient./
Teufd & famr sfam
&I I g

Choose the correct answer from the, options

given below : RILey

ST T TG I

Codes/<he :

A B C D A B C D

(@1 2 3 4 b2 1 3 4

)2 1 4 3 @1 3 3 2

Ans. (b) : H8 GHAA 39 N &-
gi-1 qEt-11
g Wies emg T F WA % 99 gy
HIR BT
e sHfes Ty W % TeEl & A gy
HIR BT
fafshr Sfees somy T & wedfd & qvEm /oy
RIECKGEI e /RERCIC]
fafsha srifss oMy T & weaft & B Sies
&I I g
75.  Match List I with List II/g=it-1 o |0 Feit-11
1 foreT Wit
List-1/g=h-1 List-T1I/g=A-1T
Author/Thinker Theory/fagia
e/ foreme '
A. |D.P. Chattopadhyaya |1. |Humanism
9. Jerae S

B. |Narayan Guru 2. R/Iarxisth
AT proac

= -

C. |Maulana Azad 3. [Mahima Dharma

3R AfgAT &mt (&)

D. [Sant Kabi Bhima Bhai |4. |One caste, one
qq Hfy o 9 religion, one

god/Ts Sfd,
TH o, TH
EREY

Choose the correct answer from the, options

given below : ﬁ'll' RIS
ST T TG I
Codes/he :

A B C D A B C D
(@1 2 3 4 ®b)y2 4 1 3
04 2 3 1 d2 4 3 1

Ans. (b) : T GHT 39 THR 8-
Teh- 1 (a1 eit-11 (Rargien)
.8, FermEE il T
AR o Th S, Th oH, Th R
T TS B
T wfa ofmr o Hfem et (o)
76.  As per Samkhya view of evolution, arrange the

I
W HETIRA B

followmg in sequentlal order

m@a%

Prakriti in Homogenous state
HIETAERIT 3TTEAT

B. Manas/HTH

C. Mahat/"&d
D. Ahankara/3Tg&hR

Choose the correct answer from_the o
given below /e ﬁ:l%l%

aﬁrw#ﬁm
(a) A,C,D,B (b) A, D, C,
(c) D,C,B, A (d) C,D,B,A
Ans. (a) : [ & %A H H&T Hd H HIATHA o-
IR | e

tions
3T

77. Arrange the following in accordance with

Plato's affirmation of hierarchy of knowledge

startin om_the lowest level to the highest
e e e I T &
FFER frAfafga @ faan @@ @ Seeaw
w%wﬁmﬁmaﬁﬁm
A. Conjecture as a kind of sensuous knowledge
FF &F UGN & ®T H Wiaehed T

B. Belief as the knowledge of sensible objects
Hoe a&g3ii o A1 o ®9 ° favar

C. Discursive intellect the knowledge of

hypothetical nature 3 AT
WEY <hl AT

D. Dialedical knowledge achieved in
dialectic/575 =Ta | BETHeh A

Choose the correct answer from_the options

given below /e ﬁl%l%m E3:08

aﬁrw#ﬁm

(A A,C,B,D (b)D,C,B, A

(c)A,B,C,D (d)B,A,C,D

Ans. (¢) : T & HAlTH H AR F SFIER

PR &R 4 I5aqH W1 % %9 § Sraned &
T I & FHR & & § e o

\’
Hag A & I & w9 foRa™
J
feormreTifenen SRT-IReheaTeTs W &l I
l
55 g § AT g5 I

UGC NTA NET/JRF Philosophy Paper II, (December 2023)

16

YCT



78. Arrange the names of following medieval T =t dig awuT % IJER frrafafaa =
thinkers in chronological order starting with Wﬁmﬁaaaﬁﬁm
the latest. TERRTATT Eoraﬁ Ea) N B. Trsna/gum
LRI ® I g HICTIRA C. Bhava/9q D. Upadana/3dtq
A. Augustine/3TRRETST E. Vedana/qa .
B Anselmf@w Qhoose the correct answer from_the options
: . given below ﬁ'l{ RILEY 3T
C. Aquinas/ﬂﬁﬁﬁw CARCLE) :
D. Duns Scotus/SH ThicH (a) B,C,D, A, E (b) A,C,D,B,E
Choose the correct answer from_the Foggtions (¢) E,B,D,C, A (d) B,D,C,AE
given belowff Y forshedl W Wl S (a0 sriﬂ?mgwra % SNl < % FEY (e i
-é(m)DCAB (b) D,C,B, A i WW% e
a‘ b b 9 b b b
©) mC’WqD’ A @ ABGD 82 Aaﬁ_)::af_)ll i t_)tq&mt—) tial
5 S— - . rrange the following statements in sequentia
Ans. (lv)) ) qudohl 1 FALHH € order in accordance with Buddhist notion of
Y WhicH — THEMME —> THeH —> AR noble truths. 3 ) e
79. As per Locke's philosophy, arrange the @ Sl WU ITAR IIHA W e
following operations of mind in sequential HITAT :
order beginnin%;from the last up to the first. A. There is a way of suffering/g:@ <At SUTS Y
wfmamat wr aﬁwg‘@‘ wdyeT % S B. There is cause ofsuffering/'g’:'@ﬂ?rw%
e W C. There is cessation of suffering
A. Perception/Jca&r g@ = &
p . . D. There is suffering/g:'@'%
B. Discerning compamrmg agﬁi_{cmompoundmg Choose the correct answer froqm_the options
o de given below feu @ R 3400
C. Abstraction/3THeeRTuT T 9T
D. Retention and recalling (a) A, B,D,D (b) B,D,C, A
F"?'a."“' T g TR (c) D,B,C, A (d) D,C,B, A
E. Naming /AT Ans. (c) : 3T T & a5 GROT & STUR 3THA o-
Choose the correct answer from_the o tlons . . . .
given below/ATl foT T ¥ | 34 ¢ 3, 3@ F H & —> §@ F /A § > 3@
T : RAAIR
(a) B,C,E, D, A (b) A,B,D,C,E 83.  As per Nyaya's philosophy, arrange the
(c) C.E.B.D. A (d) A.D.B, ].E’C . gglé(éivnng steps _of él;ference in sequentlgg
A"S 0 : fvna 5 W % Wﬁ TR A e frefeian Wt it argeR o Saftad ST
& T il % A. Wherever there is smoke, there is fire, as jn
W%W—)WWWWW the kitchen./ST&T shel Wi E[3TT &, 9@l 31T €,
—> SEROT TH QRO —> S| SreTfen THE | Ee §
80. As per Chanakya's view of seven organs of the B. The mountain has fire./78TS T 37T §
State arrange the following starting with the C. Because mountain ha%? smoke.
one lowermost in hierarchy up to _the TS W ggaq-[
supr eme.. 31; < ¥ ; ?g_ D. Therefore, the mountain has fire
et af":"%"igiﬁ' ﬁd'q”i';‘;ﬁ' fm TS & a9 & wErg W off &iu & W 3w §
3 E. The mountain also has smoke accompanied
A. Swami/&THt B. Amatya/3mret by fire, like the kitchen./®§ & g
C. Janpad/SHUE D. Durga/g wgre W off T o | 3w §
Choose the correct answer from_the options Choose the correct answer from_the options
given below feuw @ I given below feu TT feereat ® @ W@ SR
CARCEE] CARCPE] :
(a) A,C,B,D (b) D,C,B, A (a) B,C,E,A,D (b) B,E,A,C,D
(c) A,B,C,D (d D,B,C, A (¢) B,C,AE,D (d) B,A,E,C,D
Ans. (b) : TV BRI YEd USF & W@l & STER||[Ans. (c) : A WA % SHER AN % (rerarad
o # e @ gere & S 8- [ 1 FafRed 1A -
T — TR — FE —> @ TS W AT &
81. Arrange the following in sequential order in
accordance with Buddhist notion of twelve Fifeh BT W gaﬂ%\
links of the causal wheel of dependent - l
origination. hIXUT TIgh ch GGl
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aﬁﬁ%ﬂﬁw%aﬁﬂf%m@éﬁﬁm%
I THER TETE W F 3§

J
TE F 7 & e W o T % T e 2

Arrange the following in sequential order in
accordance with eight-fold Yoga./3T8

IR Fr=ferfaa ot STgeRT # rafkera it
A. Samadhi/qHTRT

B. Meditation/&T

C. Sense-withdrawal/JcaTg¥

D. Concentration/&TRUTT/TehTAAT

Choose the correct answer from_the options

84.

given below feu i@ IS
HT AT RIS

(a) D,C,B, A (b) C,D,B, A

(c) A,B,D,C (d) C,B,D, A

Ans. (b) : 37T I & SR FfoRad HA1 § HaRad &-
JARR —> IR/ THEHA —> &H —> A

85. As per Nyaya definition of perception, arrange
the following in sequential order./JcA&T
ST ST o TR fAfetfiad st s1gehd o
AT R :
A. Sense-object gontag*t’gndriyartha
Sannikarsa)/3fsa- |fsTers

Indeterminate (Avyapadesyam)/m
Determinate (vyavsayatmakam)

HIHTATHhH
D. Non-erroneous (Avyabhichan)3Teiir=md

Choose the correct answer from_the options

B.
C.

given below feu @ k) 3400
HT AT R :

(a) B,C,A,D (b) A.B,D,C

(c) A,D,B,C (d C,B,D, A

Ans. (b) : T B <19 ARAT F IR FARIT A 2-
s o1 ghaes — svawdvEq — el —
SRS

86.

Given below are two statements one is
labelled as Assertion A and the other is labelled
as Reason R : 'tﬁ o) RISy Th
ANTRAT (Assertion A) & ®T | forlga & ot
CURU Ik HIT (Reason R) ERoUR:

Assertion /3T A : According to M.N. Roy
Philosophy is materialistic./TH.UA. I D
STTHN QIS Hifeshardl 51

Reason/<rlUT R : Materialism is the only
possible philosophy/ T U d@9d
ENERIE

In the light of the above statements, choose the
most appropriate answer from the option given

below : HAT h ATk W, RILtY
forehedl H | Wo® IUYTH ST T T R
(a) Both A and R are correct explanation of
AJASIR R 2H 99 © 3R, A & 98I =AW 2
(b) Both A and R are correct but R is_not th

(c) A is correct but R is not correct.
AT 2 R 315 &
(d) A isnot correct but R is correct.
A 379 § il R 9 @
Ans. (a) : TAEA. {F & O RRME Aifdeae) @
HRUT 8 Hifdehae AR G99 a3 81 o1 e (A)
3R HROT (R) EHT Ted & T4 HROT (R) B 3ATHL (A)
T =T 2
87.

Given below are two statements one is
labelled as Assertion A and the other is labelled

as Reason R : EFW&"Q:"I"{%QEF
ARTHAT (Assertion A) & BT W Taflga & ot
AU ek T (Reason R) & ®7 |

Assertion /3TTRAT A : According to Gandhi
Truth is God /et & TTAR T & F9a 21
Reason/<hIRUTR : He believed that non-voilence
is the means to realize God/& ToIgaT ¥ &d &
for arféa dvar it srgsIfer o forw wmem )

In the light of the above statements, choose the
most appropriate answer from the option given

below : HYUT ok ATAlR W, T
forehedl § | Wo® IUYTH ST T T R
(a) Both A and R are correct explanation of A.
A ¥R R 81 &eF @ SRR, A # & = @
(b) Both A and R are correct but R is_not the
correct explanation of A./A R gHl 9
SRR, A FI T AR 7E
(c) A s correct but R is not correct.
AT 2 R 315 &
(d) A isnot correct but R is correct.
A 79 2 AT R ¥ 2
Ans. (a) : TE o STTHR TcF & 3Y9K & | SN I8 ¢ [
3 fovam F3d 9 f% e sy &t gl & g wem
21 o7 ®Y 3R HROT A FF B 94 BT (R) H
MBI (A) TEI =T B
88.

Given below are two statements one is
labelled as Assertion A and the other is labelled
as Reason R : 'zﬁT:FWO TIT{%QEH
ANTRAT (Assertion A) & ®T | folga & ot

T Ieh ST (Reason R) & €9 |
According to Radhakrishnan /TR ED _IEN
Assertion/3TT&RAT A : The idea of welfare

and public service, haye been quite active_in
Hinduism. U, ¢lleh heamur AR IF

o forom arftres |fehar €

Reason/<hIUT R : Hindu Religion has accepted
life in its entirety./feg ad ¥ SfiaT =t TH&h
gutar ¥ witer feram

In the light of the above statements, choose the
most appropriate answer from the option given

below : HAT & 3Tl W, g
forshedl & ¥ Go® IUYH ST T T AT
(a) Both A and R are correct explanation of A.
AR R 8T &eF 8 SRR, A # Té A
(b) Both A and R are correct but R is_not the

correct explanation of A./A R 2HI ¥ correct explanation of A./A3ﬁI R 34 99 @
AR R, A I T =R T 7 R R, A H G =R & 2
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(c) A is correct but R is not correct.
ATH 2 R 39T 7

(d) A isnot correct but R is correct.
A 3T € Wfsh R o7 8

Ans. (a) : RS H o SedT 3R ST Hal & fa=R
S Thed 31 I g oW 3 Sed H1 5% gui &
R fohar| 37 e (A) R HROT (R) aF 9 8
o gt = o 7

89. Given below are two statements :

labelled as Assertion A and the other is labelled
as Reason R : h A Rl 1135

STMTRAT (Assertion A) % ®qH 2 iﬁ
AU ek T (Reason R) & ® &

Assertion /3TRI&RAT A : According to Buddhism
in empirical world dominated by the intellect,

everything is relative cogd t%mal depende%;
w&ax

E E ?
%l

RIE]

Hﬁvrf?%s anfya aﬁ'{

Reason/<IUT R : According to Buddhism,
depending on the cause the effect arises. Thus
every object of thought is necessarily relative.

HRUT T EvE]
R [2E] w1 forwe aava® ®O A
|TIET T ¥

In the light of the above statements, choose the
most appropriate ans%gr fro tlg 0% gon glven

below :
T ¥ Hod SUGTH TN T a9 arﬁﬁrq
(a) Both A and R are correct explanation of A.
AR R ST 9T 8 SRR, A #I & A &
(b) Both A and R are correct g%t R is not th
correct ex Eg{lanatron of A/A R q
Té s T 8
(c) A is correct but R is not correct.
AT 2 R 315 &
(d) A isnot correct but R is correct.
A 379 € Afehd R 9 ¢

Ans(a)ﬁ@@ﬁ%mw%e’ﬁ( ?%3

;‘rlﬁa ﬁawﬁ%wwmaﬂ%tﬁﬁwﬁm
3 yoE  RER & YT SEYE w9 § 9 e g

aﬁ FRIHYT R FROT a1 G § a7 = 9 2

90. Given below are two statements : one is

labelled as Assertion A nd the other is labelled

as Reason R : W § Teh
IMURAT (Assertion A) a—‘» "@T o gar

O I9% HNI (Reason R) & & |
Assertion /3R A : According to Shankara

Brahman associated with its potency, Maya is
Saguna Brahman and is creato%;preerver and
destroger of the world./3TehT T

Ik o B WU T 7 I AT A Al
TS Herand 8
Reason/WUT R Maya is indescribable,
neither existent nor non-existent nor both.

T g, a8 T df @ & T AT
RS- LE TR

In the light of the above statements, choose the
most appropriate answer fro, tlgz option glven
below : Ee) :%é

ﬁmmwwwaﬁm

one is

(a) Both A and R are correct explanation of A.

A3 R 3 T & SRR, A 1 T = 7
(b) Both A and R are correct but R is_not th
correct explanation of AJAFR R qq
IR R, A B T& R T 2
(c) A is correct but R is not correct.
AFH 2 R 39 7
(d) A isnot correct but R is correct.
A 3THF 8 R T 8
Auns, (a%r w%wwwﬁs@wa@ﬁqﬂg
98 Sd EBT
8, 98 7 @ W 8, T I W 7

ﬁaﬁﬁ% S I (A) SR FRT (R) F1 G &
AT HRT, AR I GE e T8 B

Read the following Passage and answer the (91-
95) questions : /ﬁlﬂﬁ%‘ﬁ UgRT At é-r@
(91-95) W91 o 3= ferfiaw

They say 'means are after all means' I would say
means are after all everything; as the means so the end
There is no wall of separation between means and end.
Indeed, the Creator, has given as control (and that too
very limited) over means, but none over the end.
Realization of the goal is in exact proportion to that of
the means. This 1s a proportion that admits of no
exceptlon/ qree e chedl
T S T G 21 S W S e e
e # FE gEHAr B AR T 8| awd H, g §
| 2 Hee A T R (38 6 agd W) W e
R TG e | AR " @ fafg ' de eua |

B €1 39 U H IS YA T |

91. The above mentioned paragraph is stated by
Mahatma Gandbhi in the following book.
TeEiyT were el & Ll
fore Tes © oft T 82

(a) Young India/37 gfeam

(b) Hind Swaraj/fida U=t

(c) My Experiments with Truth

Wrg e fog gu

(d) Mooknayak/HehT3h
Ans. (a) : SUUH TERT HRTT e & q&sh A sfedl §
foran T 1
92. The given paragraph seems to advocate with

articular model of ethics?
e o reron Pt 1 o v if

I YT it SRR TaT Fefter erelr &2

(a) Virtue Ethics/HeI0T Hiforeme

(b) Consequential Ethics/aRuTmarar Hifereme

(c) Deontological Ethics/aRuTH e Hffoeme

(d) Intuitionalistic Ethics/37d: SSmamal =Hfaems
Ans. (c) : f&@ T e § oRomy fger o sEw

1 SRR O T B 3

93. In the Gandhian philosophy, the attainment of
'Truth-as-end’ depends on : e k)
‘WA & B9 W T # i fredv et € o-

(a) Truth also as means./8TEF & &9 7 ff T
(b) Non-violence as end./dTe & &Y & T
(c) Non-violence as means/dT€d % ®9F A
(d) Decentralization as end

e & &9 H
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Ans. (¢) : MHEE a3 § 9 & ®9 § GF & W
A % & § s W AR B g

94.

In Gandhian ethics, the influence of disinterested
action (Niskama Karma) is clearly visible in :

i i ®U & JEE
frefeafiaa w e w0 & 3rm=r g §

(a) Realization of Truth/Sc &t Fiftq
(b) Purity of means/HT& & &

(c) Attainment of liberation/gﬁﬁ &t mftq
(d) Acquisition of knowledge/3T T CEC
Ans. (b) : TEaEE Hfaeme & oM 8 &1 T9E qreE
# YEA W WY &Y Y g 2 8|

95. Gandhiji strongly recommends that "As soon
as we lose the moral hasis, we cease to be
" TEA1 W IIIE wd ¥ EW
= fE Afqes sTaR WId € 79 & )’
(a) Political/THfae (b) Religious/aT&fEE
(c) Social/gTHIfsTh (d) Democratic/dThat=e

Ans. (b) : TN S gear HA 8 oH S &
%W@ﬁ%wﬁaﬁ?ﬁg@

Read the following passage and answer the (96-
100) question : TP & SR U

few 7w (96-100) w¥T & SO iR -

Contemporary defenders of the traditional natural
Law approach might seek to mount a secular defense of
Aquinas's notion that the purpose of law is to promote
the common good. They may point out that what we
understand as oppression and explotation was understood
by those who enacted slave laws as just and right. Their
point is not to endorse the relativist notion that
something is made right by the simple fact that people
think it is right. The traditional natural law view clearly
rejects any such relativism in favor of the idea that there
are objective moral truths. Rather their point is to suggest
that in enacting laws people are trying to do what is
right, however flawed their notions of right and wrong
may be if this is what people are trying to do, then we
can still say that the purpose of law is to promote
morality and justice. This is the human aim of law,
regardless of whether it is God's aim as well.

IR FT B WO T&H aret
THHTCA T B A H gRom, S 1
AT YN N W g 8, P g T

fop R 50 99 TF w0 wHE €, 39 =g iR St
gz T RN S fem efufafia fear, s ofy
TY e SR & 9 T ad @ o f W

F 3y ¥ 3@ @ F F WEAdT
TR %,Wwﬁﬁsaﬁg%ﬁﬁeswamél
afesh 3 I8 GIa 30 ¢ 6 B b oufEm ¥ A ad
FH H T R &, S 5 G 0l & I SFEron
Waﬁijﬁgﬁm%aﬁ%aﬁ%,ﬁﬁwm
& JAE W@ B, a9 ed e off &g Ghd € 5 fafr @

Affear TE = B Wee 3 81 A@ HEE

|

ECA D
T 3R 8, 9ot & TE e

96. What is the subject matter discussed in the
passage. Given above? T B i A

e foig o et w6 T -

(a) Traditional Natural Law
IReIRes Srehfdes et/ s
(b) Divine Law/2d& ﬁfﬁ/w
(c) Constitutional Law/ddefe [EIRVEICE]
(d) Statutory Law/Sifeiferes feifel/srgT

Ans. (a) : STIH T § IRERE Hpfash (I8l R
a—iksa?raﬂé% e

97. Accordin%to Aquinas, the purpose of law is—
IR, Ty /& w3 €
(a) To promote common good
HHE (A He 0T T
(b) To promote common will
T Hehed
(¢) To promote common right

HHAE Al
(d) To promote common divinity
HHE Al

Ans. (a) : ToRAE & FER [ARY/FA F1 3639 T

I BT H 2l

98. Which one of the following is a_supporter of
traditional natural law theory? o)

ferfer /e o wueles &2
(a) Immanuel Kant/%'ﬁﬂaﬁr EAL
(b) H.L.A. Hart/U=.UA.T, &
(c) J.L. Austin/S.Td. 3nfET
(d) T. Aquinas/2l. T
Ans. (c) : SL.UA. 3TfeA JRARS Wpfas fafdy *
guds g? | i

99. What is the relation between morality and
Afershar

justice in Law? 1P
wfrer o T §7?
(a) Constituent components of law.
RSREE)
(b) Constituent connections of law.
fmt Somh a
(c) Constituent components of reason.
e
(d) Constituent connections of reason
ot do a@
Ans. (a) : Ofy § Afasar 3R =g % &= fafy & e
e 1 Hale 2|
100. Traditional natural law clearly rejects relativism
in favor of the idea that—
HTIA WIURTATETE i 39 STTUWUN o uel o
TEA: RS L ¢ -
(a) There are subjective moral truth
T 8
(b) There are objective moral truth
T 2
(c) There are objective legal truth
fafers e &
(d) There are subjective legal truth
T 2
Ans. (b) : TRUR® HOf% FMT TUFAERE H 9
magﬂn ¥ ug § wEG: @RS 8 B e ﬁfaas
T g
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NTA IS A/SA3NAH THET, TH-2023
YIS (PHILOSOPHY)

AT |fgd Tgei™r U9=-us &A1 BT (ufiam fafer : 19.06.2023)

1. Which one of the following is true?
frefafea o @ & 91 9 87
(a) It'p'and 'q' are true then p q is the false
I ' 3R 'q' ¥ € A (IMAGE) 319 21
(b) If'p' and 'q" are false then ~ (p. ~q) is true
I p! 3R 'q' AHH ga ~(p~q) T 2|
(c) If'p'is true and 'q' is false then p. ~q is false
IR Fe BN 'q A § Al p ~ q G B
(d) If'p'is false and 'q' is true then p q is false
I p @ R ¢ §F & @ (IMAGE)
T 2|
Ans. (b) : A& p 3 q FEF E, A (p~q) I &
* T qrdfad 3THE A1 FaAhT § Jd T I8 T
T S R
* I8 Th YR F1 Tob-faaeh ¢, N F7 B T F35,
FU F Gl FI JHIUTT B o T fHar S g1 a4
= 9 2
2. Given below are two statements: one is labelled

as Assertion A and the other is labelled as
Reason R.

o @ wem fiw Tw € ww sifhewew
(Asseriton A) % ®U o folaa € ot | Iqh
<hUT (Reason R) FETH :

Consider them and select the correct code from

the stand point of Buddhism:
& & YN W WE Fe a0

Assertion A: Everything cannot be claimed to
be momentary

TR A: Yok I oh &IfuTeh B T gran
& foRaT AT weha|

Reason R: There would he none to observe it

HRUT R: 58 F&I0T o forg =g =& gnm

In the light of the above statements, choose the

most appropriate answer from the options

given below:

SUUH KU o AR °, e fau o feremeat

T | TeId SUGRH ST Rl AT R

(a) Both A and R are correct and R is the correct
explanation of A/A 3R gHI @& & & R,
A I T = B

(b) Both A and R are correct but R NOT the
correct explanation of A/A AR R I T §
3RR, A F & = T 2

(c) A is correct but R is not correct
A & & AfRFTR W A 2
(d) A is not correct but R is correct
A T8 78§ AR T 7
Ans.(a) : St 33 @9 g1 fagra R emeiia 7 T 2
(1) FEER (2) AR (3) e ag a8 g9 gff
@ § T & S &) R A 2
*dig o % SER TS 3 9% §, W g5 e
W IGH H TE qLH AT I
*SIgHd o ¥ HIUT % AR W Jeih a&] o &I &
&1 el T AT S Gehe B
* 5 J4UT & T FE TG QI A Al 79 H A L
erer : fheft woftg soft (AFe) g et sMfsEl % g
Fa] forelt 31 HH IYHUT §R F1@I SO H FH I
FTAT FT0T FHEAT 2 |

3. Which one of the following with reference to
Satyagraha was maintained by Gandhi?
TEAWE o dad # wieft g fAfafias § @
Tererent Twele feRa e or?

(a) Satyagraha involves disrespecting the law
que | FA P Uy wieAfera off
(b) Satyagraha involves passive resistance with

force/TemIg # daqds Mitwa sy wfnferd a1

(c) Satyagraha involves respect for law and a
feeling of love/TwMIE & HA % Hf MR T
9 I A wftnfed of

(d) Satyagraha involves a feeling qf love passive
resistance with forrce/TcaEE H T & 9rET

Ud Seqds S gy fmfer or
Ans. (c) : UEIE : FEATER 3 3 3T 02 &
AT &1 9 g = 99 = H WU HA & o
o 2 % a1 AfT=R fFar 39 & 3= TomE 9™
feam
* TeAE o I8N ol Aacid- T &l &1 3791 Ttk Tt
3T % g STars 33
*TME St % fAU SEmE w1 3evd qaime, geie,
T, €9 3R Ut i arened i Ge ar| e J
difed W & oMt g9 & e d gomw &
TG S ST F |
* g | e St N g # Hed & ¥ Sfe U
I @ e aftafaa o
*Tiefy ST J ToaEE o T9d Bl hE HIEA SW & STeAlcHS
79 F &9 § qEEE 2|
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4. Consider the following and mark the correct
code :

frafafea W faor witve ©@ w6 &e &
ﬁﬂ%ﬂ'aﬁﬁ‘lﬁz

"Right" and "wrong" apply to-

“El T TTera’ $ O I B -
A. Voluntary Actions/ﬁﬁ-@'ﬂ—? Huf W

B. Habitual Actions/EaTsIT{eIeh Ut U
C. Involuntary Actions/3T{ezeR wHHf 0T
D. Contingent Actions/3TTeh{¥Heh HUT T

Choose the correct answer from the options
given below :

Hior fou T faeredt § @ OH ST T =

EJIS 1

(a)Aonly/WA

(b) B only/%aa B

(©) AandBonly/WA,B

(d) C and D only/®ad C, D
Ans. (c) : Ufesew & : TR & 9 wfafpad st g &
ofss & freer # 2t €1 U fpard seard 81
Ufegw & : & Fa &, fus aeE g & 39
I &1, 79 39 3R 1 Uessh wH el ST 8
wWufe wH : @Es Y @ W g g1
wrefess 4 § @ gal A 99 YR ¥ 9 F |
fafg &l o 2 21
* T SR e, W it w@rHifae H W Ar] 8 2

5. Consider the following and select the code for
correct sequence :

frafafea w e e i wft s
T e T T HIT

A. Dhyana/&m

B. Pranayama/9ToT&TH

C. Dharana/&TRumnt

D. Pratyahara/JcTgX

Choose the correct answer from the options
given below :

Hior faur 7o foeredt & ¥ WH SW W W@

'él-ﬁﬁ‘l'q :
(a) D,C,A,B (b) A,B,C,D
() B,D,C, A (d) B,A,C,D

Ans. (c) : T[T I o TS AN §- 70 — F7q -
EH—> TUMEHE—> FHER —> GN0T —> & —> FAIY 2|
* UG €99 YRR NOM| Sadd  gafye
TeTEl AT I |

* gOH W AN o Iw, o 3R e &l T T fea
T 2|

* YR, T, WO, g qur onen oMfY sawel SN I
Ty yaEferd T fquel & gy § W R 39 W Y
FH F % TN udSel F AT b T H fAuer
feam

* (b) WTUTISATH : ST0T + AN

0T = Wk a1 | & A7

AW = a1 foar & 2

3ot OISR 1 s A1 FERa ST SorE 2

(d) YOTER : 79 TS g I F W R, 3%
frzrel v el a9 W@ & SR e & |

(c) &IuT : fHd TH favm W usEAr fgd oA
T FEAT 2

(a) 8919 : & fwa W o9 3k Afass & quid: Ffsa &

IH T HA @A A B

6. Which of the following is rejected by Berkeley?
frrmafeiaa § o fre sehet STEfieh T htd 27
(a) The objects of human knowledge are actually
imprinted on the senses/AFd I & faug
il W At &9 F B4 29 &
(b) Soul is something which perceives ideas
AT Sl B ST B §
(c) There are abstract ideas/37qd &= I &
(d) Soul is entirely distinct from ideas
e et ¥ qufean frm 21
Ans. (c) : Sl 3Td THT H SFATBT B B
aehet ot Taegia ¢ 3 STER ST SR 39 S &
i FE a1 T TAR JUT & T FEE 21 TH
FI 2-“H aeqell @ o T e, § yeri @ oo
I @ E1IET & T v § ol ST T e &
e T B
* Fehet ffeRa wedl & A ahal T foremfiar ward
et ST % IR 1 Wie i £
ST & ZR ST TevT 6T S & iR SAred & whfa
Bt 21
Tehet RN & € : 799 39 & favr e w
Ffes €9 H Y 8 &
* ST Sl T ST B 2
* e Sl @ guieen i 2
7. According to Gilbert Ryle, Philosophers
misconstrue the logical grammar of terms:

fice?d oot % oMER wvitEl 3 A
SITHIUT o UEH T T 37 TIT:
(a) By treating them as denoting acts
3% ALY FF 6 ®9 H A0 g
(b) By treating them as argumentative passages

3% R AW & &9 § A g

UGC NTA NET/JRF Philosophy Paper II, (June 2023)

22

YCT



(c) By treating then as categorical propositions
3% freufe qdhare & &9 H A0 gC
(d) By treating them as paraphrasing arguments
3% JIHARSA T & ®9 H AT g
Ans. (a) : e Taa & o/guR et 3 @ifds
ST % UEl I A 8-
* 3% Ifehgth AT & &Y H A g
* 3% fETee Tehare & €9 # AMd gU
* 3¢ TS T & &9 § A g
* T3l i 9Hg & Concept of mind”’ g o1 Sife
3N Td Wi # e Y9 aren fagid Y 1ga Feats
T 9T FEd 2
A & FER g9 99 & Fe & a2l & T a
Rl § = F &1 S AR 39 FIE F FTET
T 31 afch 3qY wde i FfE % IET 2

8. What makes Lock a consistent empiricist?
Tteh ahl ST Teh WA ST HaaTdl ST &:
(a) His acceptance of matter as 'something I

know not what!/ ‘sfifd® 57 @1 & @ § &
Sar” &1 faeprdr |

(b) His acceptance of the existence of God

3 Sl T &t e |
(c) His refutation of the doctrine of innate ideas
ST TES Tl & g H W
(d) His view that there can be sensation without
an object/37 AR f a%q % fomr Hog &
el B
Ans. (¢) : IEIYEER : | W IniS G 2
fre fsali bl I 1 WIeAw AT ST 21 g9k 319K
el § 9 B9 A orve ovyar fee off w9 § &=
T 319 & J 1 I FUR Tyl F U A i
MR B
* Gieh I SWIAE & I & &7 § T S 8|
TAYI TR gfeare @ AEe & Y F STaas
Fr 7% g @
IFUFEE F YR THN YW T SIS 21 35
SFTER O I FEAEE ¢ a0 9 T ST 5N
e & 2
* ik bl ST g9 Yl & fIGid H WUST Uh T

(a) Nirgunatva onlyfﬁ'{['ﬂ'lﬁ =
(b) Sagunatva only/S70Tc HIA

(c) Nirgunatva- Sagunatva/ﬁ’i’fﬂa NI

(d) Anirvacaniyatva/3ifeaiaa
Ans. (b) : RAIq : * 9 & TeAI-IgMT|
* 9 fogia 9 YE 90 99 @ T Sier @i 9,
I G A A S, SAgAeE 8|
TS o fagia : falwga  (f@Rw + ea) e
TS & wfqfed fear gan A witi A 21 T
IFIER FAfY S S Sfar e s s @ e g
ot off 7 o ¥ & 3@ § W I™ T B I THR
&1 Gae 21 St 6 Rl & gd 9?1 oW o s a
W A e B
reraTeTe At fagie : AeEE § g e ¥ e
Saae frgia & e 65 8 (§5hd: gaame) g §
% Teayul e g, S 9RdE awie @ 6 anffie
sonferd # ¥ U 31 39 Geus AeE | R eqeadd
ot T S &1
* AR & e § WU A THES SR A S
R BT &
10.

Which one of the following is correct with
reference to Descartes?

T o el § frefafad § @ S ot wdt 87
(a) Descartes was a subjective idealist
ceanieciciil]
(b) Descartes was an subjective idealist
Iert famfafre sesfardt o
(c) Descartes was an empiricist
I STwEArd o
(d) Descartes was the author of 'Essay concerning
human understanding/3® T FHAT '
FECLET & @ o1
Ans.(a):ﬁﬂﬁ:aﬂﬁaﬁmwwml TP &
IR o o G AT daT § § 9 fawe
T ifis T S ¥ g1 F A S i Th g
& foet § qun I @A g1 q % Fred e e
F1 39 TR IFA > o o od § g9 7
* I ST 9 % (G & as e SR w6
Teft 7T THAR #f 3=T Wik & WEW ¥ §H & 9™
T gU A1 T8 I H1 FoT Fgid om

11.  'Perfection of God implies the existence of
ST e T < God". This is the view of whom?_
* @i % 3TER I8 94 7 fF F1E yg 79 § 8 3R ‘FHT T AR WS quiar | i grar
I8 39H R @ 21’ o Termant wa 77
9. Which of the following regarding Brahmavada (a) Hume/gH ‘
is acceptable to both Ramanuja and Madhva? (b) St Augustine/¥e AT
Fgae & o § frafafad ® @ wi| | (c) St Thomas Aquinos/¥< 9HH T
TS 3R wea A At Tt &2 (d) St Anselmn/Te THeH
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Ans. (d) : “TeR &1 A g qofar # erafifed g
g1 7 He TheH &1 7 2

* g2 U¥e TREdl  vAed % Heaq feem o) &7
A AR T o @ie 3R A=A &
fau wefere § wag wfeg &1 edwre # wmifm %
379+ fosid & fa)

* W : ToH saefaed g fafeweety wra # fafaa
a1 % A Td ToEfae gERe 91 3 9dE g
FIY F TEUF | A THAD AHER I TR
IR o 3Tl Hifel Fefi-fame off o | aRed el famm
&1 fodme et S 21

12.

What is not acceptable to Hegel?
TS o IITER T Teltenrel =& &2
(a) Reality is a living. developing process
T T Shfem, faemefer sfwar 1
(b) The universe is at bottom a chaotic system
SIS Yo FTafed 2|
(c) Whatever is real is rational and whatever is
rational is real/STt "ﬂ?ﬁ‘[% g ifes 8 I S
+ff difes ¢ 98 W 2|
(d) The Reality is not an un differentiated
Absolute/ﬂﬁ?ﬂféf“}ﬁ%ﬂ foer =& 21
Ans. (b) : BT : §9% TUR fFelt &1 s 99 aefi g
21 @ TEel 39 ve & R GRS A fawe & fde
T 2| d9g 98 fava 3w fawa @ Al dew e
g & guifye g 2
* gt % ATHN W 8-
* T Ueh Sfifer faebrarstier sfspan 21
* S off T @ 9% Sifed § 3 S off s 8
T 2
* T tferfen Feder @ 2
* A Th Hegd TopEard faans 1 396 FER s
3 HROT § Sro Afreafs ¥ qd off dieE @ g
* A AFEE Waad S 7 gU 39 $2de @A g
Hift R e 2
13.

98

Which one of the following is the correct
combination of moods in the first figure?

qH MR H fo=me (JEm) @ wE 9
frrefafaa o @ == a1 §?

(a) Barbara, Cesare, Datisi ad Ferio

(b) Barbara, Celarent, Datisi and Festino

(c) Barbara, Celarent, Datisi and Ferio

(d) Barbara, Camenes, Datisi and Ferio

Ans. (¥) : T2¥ ST St TATeRaT - a8 ifufspan e
T TH AERE N TS F STIHAI St 21 HiE
Afufspam Fed 21

Moods : 9vfiieg J&mEl & =Faen & fhie & &
H‘rﬁ@ﬂ(MoodS)%l

ATehfe- Te AfY F WA FI THSET & 3THM 2

* oI e~ STH HaeW § AR fem g €1 S @
feifta &t € o foclifen du 8 =1 e 21

* ¢ e & T uel o 9el faar sravas 2

* UgOT 3Tehel- AAA, EAE, All, EIO

14.

Russell held that most propositions, including
those of mathematics and the sciences, are
complex because :

oft. T T 7T © TR TiivTe 3iR famme wfga
SATAKTIT TehaTarl eht Sfee &, SRiifeh :
(a) They are combinations of simpler propositions
3 T Al & gHed §
(b) They are combinations of complex propositions
S S dadhart & 9= §
(c) They are combination of compound
propositions/d AT Teharsrll % TI=IA §
(d) They are combinations of singular
propositions/d s  (ReR) dharl &
T §
Ans. (a) : 5. W & A= 2 6 M SR fawE Wl
AT ThaE Sed €, i 3 WA dhasE &
U= £
*ft. e & fow 7 T AR mafuss fage & St 9
TR T T BT ST HT 2
* 3T Wa 7 foran @ & <ufa “sifm wwal” &1 s A
T JA g 3T STIURONS IR YHERONe H TE,
FETAd a1 ahETd & R § v R et
UgER a1 W ®9 ¥ T A |
* 0t foeiy &9 4, fivaifs o 3R fage & et

& Y@ IUHTT & &7 § 3@ 9|

15. By which sannikarsa do we visually perceive

the coolness of ice according to their naiyayikas
TRt o AR W i IftaeTar T =gy
yeaeT T Tohe |fsrehs grT o §7

(a) Yogaja/?iﬁ"ﬁf

(b) Jnanalaksana/JT9 &0l

(c) Samanyalaksana/|HITI T&I0T

(d) Sasmyoga/@l'?iﬁﬂ
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Ans. (b) : TR F FER T H Vi B =R
YT &9 T HRIUT T g AR 2

* e hed & b veg 3 o7 § i SR o gerfed
Hee o B

(1) v/s3 & g 37 3 Iufkefy

(2) 314 & U9 IR F IR

(3) T F W g IuRAfy

el & oy A G S gerd & ¥ e 81 SHe &9
Vg ¥ EeR e il

*FE AW SThlY, arE, Rtwg, &wn,  E,
s, ey, TevEsieted- 3 &8 I % @RIl 2 |
16.

Which of the following statements are true with
reference to Vivekananda?

foderg o e # fr=fafad weel § @ T
T 87
A. Conception of reality is pluralistic

IR TTedaT W LU SgaTel &

B. Conception of reality is monistic

IR FeTelaT St TALIUTT Tehecauleh &

C. Conception of reality is heterogeneous

ST TUTLAT ST ST froH =i & |

D. Conception of universal religion is rooted
in acceptation universal specialties of all

religions/B‘rlﬁ e R STLTIUT
Tl erf ot el & e & sweht &1

Choose the correct answer the options given
below :/=r faw 7w fereredt & & W& SO &0
T T

(a) AandBonly/%?f A, B

(b) A and C only/dd A, C

(©) BandDonly/%h—OIF[B,D

(d) C and D only/®ad C, D

Ans. (¢) : @ fo@eE= &1 AT o1 {5 gwvs § FHad

T & e 21 fRad dad Uh & 81 IS4 gegl

FEIUE H qul T & el & &9 F @)

* ZTeRT JrfeTeh foemR- 3 =agilRe e & v gueds
g1 3 FBd ¥ b adae v yomet # A off€ 3 FEeR
SR B 1 T 7Y 329 Bl T R Hd 2

* Tt feaehre o Feeddr ol YU Tehecadieh 2 |

* I Wit gd ) sEERon gt eml & fagrvaned
& @R ¥ ITsh

o9 o ¥ A A 3T vRe, TR YT A
B HerelE o IE 1 A & e

17.

Nozick advocates the theory of justice as:
ANfSTeR = o Tagia &1 98 39 &0 ° @ &
(a) Fairness/f-sqafar (b) Right/3A&HR

(c) Entitlement/9=dl  (d) Liberty/&d=dr

Ans. (¢) : 9% == % fagia &1 o gEd & &9 §
o &l

NS = & fagia - AfSe & R, e Ff &=
el % W ¥ S g9 off wifha fer 71 97 e w9
Y SHH 8N 21 39 YHR AT H ‘FHeN Fgid Heeld
21 et g & S o faeRor aoft g 2, S 39 wH
F 8T HIT 39 IS H gheR BT &, S 3Hh U9 2|

* S TR % FeR & 7 Te ¥ wiey/fRY S5 2
*Joq & fagid & fahed & &9 #, A T 39 qEar

i &1 g fean
18.  Match List I with List II
el 1 1 eIt 11 9 fiem iy

LIST 1 LIST II

A | Nietzsche/=fiegt I Onto- .
centric/3T=2 AR

B | Sartre/@Ts I Subjectivity is truth
TS T §

C Heidegger/%'lg@"l'{‘ IIT | Resentment

D | Kierkegaard IV | Transcendence of

EJC I the Ego

3§ &l Scoh

Choose the correct answer from the option

given below :/f=ferfiae foeredt # & W&t ST
T AT R :

(a) A-III B-1V, C-I, D-TI
(b) A-IL B-IV, C-III, D-1
(¢) A-I, B-III, C-II, D-IV
(d) A-IV, B-I1, C-III, D-1

Ans. (a) : * e : 19 g7 1 g 91ed € 9% &, S &
TEd § % 98 AR SE-U F1 &Il 8, 7 Had AR o’
# g el 3t el afed, e |

A — (iii) Refei= @t W)

* {TE ;- A IMH o HEH Afh 91 S <A 3N 3EHR
T =d & el [ 91 ¥ U A §, S oW w
T <ifent &t fifad e & o fafte arvifre wowstl &t
drrei I U H B

B> (iv) 3T€ T Scehl-

TMES : TSN & T & Al=as a1 a6l
AT 1| Y Hifers T, ST W IEA H, I
qg e & Rl 3N Ufeeifye @fE & gey §
HEATH foveiouT o WEm § ad 7% g & I
fepai

Co (1)AT=feeh

* ShIRTITS : T8 Ueh 3MRdcarel i & &9 # I <
q| i, wififs oEs, SR, AAETEE, TR,
Higfeaeh el 37 MHAR W Afeeere & O qm
e 2|

(D) —> (1) SEI(TBAT T
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19. Given below are two statements :

Consider the following with reference to
Radhakrishnan

frreafafiaa @ wamgwE & dey W faemw
EQISIY

Statement I: Philosophy is a synthesis of
Advaita Vedanta and Philosophy of Absolute

Idealism

HAT | : IRT T AFA-AS hT Gyewur 3T
fer yereraTg v 99ie ¥

Statement II: Idealism is spiritualistic and
teleological.

HIT Il : AR TEIEE  NEATHATE 3R

EVRIRECICIR S

In the light of the above statements, choose the
correct from the options Given below:

SUUH KU & AR U, e fau o feremeat

T @ WEl 3T T TG RIS

(a) Both Statement I and Statement II are true
e 1 ST T T §

(b) Both Statement I and Statement II are falser

FO 1 3R 3T 379 &

(c) Statement I is true but Statement II is false
FIF | T &, Afehd B 379 §

(d) Statement I is false but Statement II is true
HY | AT 8, Wi HIT 11 §F &

Ans.(a):ﬁ.wm%ﬁw—

* Qe ag WM €, e 3N 89 gl & e fe
F1 ot e 2

* 9 3R foM & STUR W & 3Henyg e dva 81
*qUHWHE F WA FEFAd g SR YR a9
Feafiieh WM @1 318 e @l S e & A
e & G & S 7 |

*IAeRT QU 3 - dad B HYATUT N feuer
TEFETE &I &9 2

* W Sff 1 FeoaTg STeATard! 3 GoeSiare 8|
* g9eh QY 1 W A ¥ Hiidr % ®9 H @R
S ? qdr ufyw % ud fHies W #1 ST
T A B

* STl SR AT T H T & Sad F g@
AT GdlM SEH B Tehal 81 UM I Afe mefeAs

QASHTRT 1 ST & A G I SR JASHRT B
20. What is not correct meant in Kant's philosophy?
i & g9 § feraent aref wét 7 €2

(a) Thing -in-itself means Phenomenon
W@ wgaeg & 7Y g wd

(b) Sensible world means phenomenon

s s & 37 @ SR

(c) Self means ideal of Raton
ST T 319 & b I A

(d) Gods proven existence means the basic
cosmological ~Argument/S&X ad @

giEgas T
Ans. (*) : Fie & ‘T wE F @ FER AW
WAl 81 3T b 8 b WAIT 9UE WS H GH
foremi &1 &g 81 S AR gt orwdl s W et @
3R o8 AEEE 7 @R @ A w81 S ge,
T A AT H AT 1 g SN 2
* e & IR RN a8 € S A & sifos S A
Tz H HeE WO’ WY & 3E o & ufy e
3 $ar & ufe fFarg Sc R
* g% STIUR Sia &1 3299 Hared 310 &1 @ 2|
21.

Bio-Centrism maintains that :

e Shi-3ehaTg (SMTETEIT-gSH) e ahiar

2w

(a) All life forms do not require moral
consideration/sfed & T wed H A
SR # STavEwa T A

(b) Some life forms do not require moral
consideration/sted & B w@Weul I Hfi®
I F SIS T B 2

(c) All life forms require moral consideration
St & wff @l # Afie AT @
HETIHAT BT 2

(d) Some life forms require moral consideration

S F P W F Afas AT @
ATEYIHT Bl 2|
Ans. (c) : e Hfesshara (SrEHfgen) qudT w3 & 6
Her % Tt et # A SR #1 sravasd g 8
*grEdfEsy veg # @i wafawf Afqeward wfter €1 S
g ¥y # Tt Shfad =it a% e awg S Refa
H fedR BT 2
*qENfed AHT T HR TR F d9 T W
AR T H STRaRT B 2
« goff Siifed =il & w6 ue A Rafy @t @ it
A Afe e % o 8 2
* NhATdT- T Hfaeh B & S A @ fh gl
Sifgd awqell @ AW faem =feu)l aa § aw
A & e o 2
22.

"Natural right is the right of the stronger, the
laws are made by the few the strong and the
privileged to protect their own intensity" who
holds this view?

“Tafife TR Sea @ ITRER ¥, oTue
W & feal @t r & fau siwenet e
fgrirer yrw g A R e T T
T Terdent T &2
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(a) Plato/<42 (b) Socrates/qeId

(¢) Sophists/HfHE (d) Aristotle/3TT&]
Ans. (¢) : ‘g SRR FeraH AUFR 2, 30 @
¥ fedl @ w1 & foau vieereh @ fARmRER T $
A gR e o T 1 9 U Witk &6
* AT W a6 3 F FROT GHd B FAHT
gl e 21 39 fen & off 97 Gty o1 fF 98 99 %
i famit 3R FE 5 wWae T FW gu =ARe
o= 1 ST 1 USRS T Tl GRIAwT |
* Hifthte foam awT : FF @ GRe &1 5, seioe
T U, TS & T & WEY AFd I HE SR
=feh I W@Ifas Fpd § Hd 7 B ST gfy 3R
=T % TG, FT % ITET HiE G 2

23.  Match List I with List IT
el 1 1 eIt 11 9 fiem g
LIST I/5=h-1 LIST II/g=h-11
A. Absorption/ala?ﬁ'ﬂ'UT L Poq,~q ..
B. | Simplification/@¥cfientur | II. P,pq ~P.q
C. | Conjunction/Ta== . |P.q..P
D. | Modus tollens IV. |[Poq .. p>
Foriteres 3 werrge= ®-9

Choose the correct answer from the options

given below :/fF=fefiae foreredt & & W&t ST

T TFT W

(a) A-L B-IL, C-III, D-IV

(b) A-IIL B-II, C-1, D-IV

(¢) A-IV, B-IIL, C-II, D-I

(d) A-1I, B-III, C-1, D-IV
Ans. (¢) : (A) 3TE9NE : 98 sifqs a1 THERTH fpa
gt 2, o @ 9 A z9 F oy A W] R ev
78 1 319 TEe § WA S 2| TS AT 2

iVp>oq.. p>D(p.q

(B) WXctterur : 5t nfordta =iois i gremer R =
G&AH &Y H ga 9T, Tell ST Hedr gl
IW- T TeE, T, 9N S H BODMAS H¥ # &
A 2|

(i) p.q ..p
(c) TII : 59 Afufehan & < o1 1 ¥ =1 SR
foredl Tk IcuTe 1 I A B 1 39 GASH Fed &
TAH e a1 e &1 3 2
(D)ﬁﬁﬁ%@%@ﬁ—)p:q,~q:.~p

24.

"Ideas are not continuous, loose or jointed by
chance, but introduce themselves with each
other with a certain degree of method and
regularity" this is acceptable to whom?

‘e wad, e sterem e @ 9@ 92§
dfeeh @WH W Uk A & W Ugfa 3w
Frafiraar = ffza uen @ gmfay w@ & a8
fera aroifarer grr Tl &
(a) Kant/&ic (b) Leibnitz/amgafae
(©) Hegel/%‘TFf (d) Hume/=?H
Ans. (d) : “TF T, et seEr A ¥ @ S g,
afeh w9 H UF g F 99 gl iR frafim #
A § I A 81 T8 g A g iR R
T 2
g & o1d, Wifew anifae e dvead @ |
qME ¥9 H 3T ae Giftd R feam oAl s
QST ST e 2 |
“EH % AIER U g S f e & B R we
sitfeer & 21 g @ ot SeRIEE B &1 ST e
I IR IAT B A A g2l 1 gH Feff e
T gan T asgelt § faag o emem ¥ s #
g = T@ Heu H I Bl

25.  Match List I with List II
T 1T gt 11 ¥ faes sty
LIST I/g=h-1 LIST 1I/5=h-11

A. | Sattva /@ | L Active / |fehat

B. | Rajas/ &9 IL Inactive / Tf&Ra

C. | Tamas/@uq_ | III. | Light al}d bright
T T

D. | Purusa/9&¥ | IV. | Heavy and dark
ot TE T

Choose the correct answer from the options

given below :/fFfefaa faeredt o @ W&t ST
T TAT T
(a) A-I, B-II, C-III, D-IV
(b) A-III, B-I, C-IV, D-II
(¢) A-I, B-III, C-II, D-IV
(d) A-II, B-I, C-III, D-IV
Ans. (b) : * G 70T gehIT TS FHHICAT el &
* To7 T T A7 Qs 3T 21
* T 0T Hig F e A1 A U el @ 2
* gey ka2 2
* e 70T gAR T § Hehes foeR & Tl 2
* Tied 9 § T, W 3 7Y - F A 9T S0 T
26.

A statement is considered to be contingent

when :/f&Ht S I 3Mufaes & ® U foem
fepam st & e -

(a) Itis always true/dg T3 T BT 2

(b) Tt is always false/T8 Tae 3G BHel &

(c) Some times true and sometimes false

Ff-Ff g AN Ff-Ff 315
(d) Tt is doubtful/T8 F=<greTe &8Il 2
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Ans. (¢) : 5t S99 it emufes % &9 & fER e s
21 59 Fq-Ff g 3R Fef-Hef srgeT a8 |
AMRRHeRaTE- avife Ad seae & rHRu gfed &x
1 FHgid| 999 & HeE Sue § 3Fh ST |
1 for9Iy wee €1 31: 39 HA &I SRS Hal TN
27.

In the view of Sankara which pramana is of the
final authority?f?'iﬂa'{' &* faemr fr, -1 YJHTUT

atfeam w0 # " §7
(a) Pratyaksa/Jc&] (b) Arthapatti/ﬂ‘ﬂ]tqﬁf
(c) Anumana/3AJHH (d) Sabda/ITsx
Ans. (d) : 3T 3o & foaR & ‘v’ yor eifaw &9 §
T g1 T 9RT & UH HeM aniHe Td gHveds 9
3B 15 JE B S ER FEM {3
*qRAT g9l § yuror 3§ Fed &, S 9 9w A
Terad F | 27 3 a9 e e gl @ gend
T BT = g fawg @1 s A g, aend
I 11 A F BT S FROT B 3 s gRr A
T & 3 THOT Hed &1 Tiae J =R JET 9 8-
(1) 5 (2) SFHE (3) STHM (4) ¥R
28. The fundamental discovery of Merlean-Ponty
is:fmﬁﬁﬁw@ﬁ%:
(a) The body-mind/TRI-H
(b) The body-subject/THIT-J
(¢) Theory of intentionality/ehHee I fagia
(d) Theory of Perception/J&is= &1 fogid
Ans. (b) : T-TI=Y gl @iel IRR-FwT
* TTA-UIE, I aife iR st gfeshd, 35 &
B9 # Rdmas iR ue fage & eunft i
TS 9
* qef-gidt & Rafe & Gt Ferdere % w9 F {0 S0 R
* JRI-FTAT- THR-a% § 31 aead faferean fage s/
frefRa v qatgmfe ek & @1 wiR-fomg @ Arcl-uie
*1 AR 39 TR § § S 6 @w gueh oged &
21 T8 7% 5 3o R § S ¥ ted Ff ¥
E-ufife TR €, S guR eTw-ue & g @ ord
&1 2

Ans. (b) : S ¥ & Fade qe FuME 21 IR i
39 T 39 <99 B g SR T 2

Aofres gola- o wHdEl @ favw fmm 21 =@ T %
SFTER Tl 1 foER F H difed gy ¥ g off ween
ST 21 g 3 QeW S % gR % S 81 gErT 5
e § yErr &1 feEm e gwen Ser @1 avifve Adq H
T vt § 3 9% 7|

* g o T A FE O STHR % A w Tl AR
FHE T P SUR FYIHT g4 IRT| T8 MER 57 2|
A9fent 3 9 st &1 AT & 2- (1) gt 2) S (3)
a5 I (4) 9 (5) AFW  (6) FA (7) BF (8)
AT 3 (9) AT

T8 WA 5 FHAER 2

* STRIRT—> hlcT —>3ATHT

30.

Consider the following syllogism and identity
the fallacy involved in it

frrafafga = g W faem wifg 0w

39S SNl T AT TEU-

All men are mortal/asft A= Tt %I

All poets are mortal/@sft wfer TruTsfier €

All poets are men/A+t fd vy 2

(a) Illicit major/373¥ TR

(b) Ilicit minor/373e TIEIR

(c) Fallay of four terms/ﬂ?ia:q?ﬂ'q 3

(d) Undistributed middle/37aqTsd A% Ug
Ans. (d) : = e off g9 i sefie T w21 9.
gz % fog @iEr & 21 gl ae F T o El
* g fycreyor uer gfad w arel 3fh S Sufked &
R S & A FEert 2
T AT : U 99 TER H dh b F Al B
Rre & 3T F9AT F MR T AGU Fo Febren ST 21
* ST A 59 SN Rt A 2-
75 Yrard e 39 9N (F9) 99 OF & a1 3§59
1 SR fret e g g 21 it Wil wel & €
T G ok g - A SR aRl § oY 98 e

29. Select the code correctly considering the
magnitude of dravyas admitted by the

Vaisesikas?

Ao q9iT & g wlenrd e @ wEer W

T W s § o g 8, @ = # erfad wheen &
A I T S 2

* ST g US ~AaTa H AN 2

forom @ g WE &1 ¥ GG %e @1 w9 |31, The propounder of the 'doctrine of Divine
'élﬁﬁ'-l'll‘l illumination' was:
4%%.&'. m m’ m X
(a) Kala, atma and manas/hTet, 3ATcHT 3 REEEY & a; B a .
(b) Akasa, Kala and atma/3TTeT¥1, el 3T AT (a) St Thomas Aqumas/ He oy fa
(c) Paramanu, dik and kala/T%aT0] f&sh ST Hia (b) St Anselmn/@”{ T
(d) Akasa, manas and atma (c) St Augustine/T< =R
SRIRT, AAH I ST (d) Descartes/SehId
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Ans. (c) : 2T ¥éiftT % fagia F frars de T 4
e fagia : U5 Y saf & gag § yEfod 96 R
Tag 31 W 21 39 fid & STER TS AdE @
afesh $4X g0 T Eer 2

* g fygid § $udg wfte o od W o fan ™ 81 '
ol gdfafed & & gl smve W & & weE w6 2
* 31T JTT % SER "9 foaR & ufRar & 3@ P
Y HErEd F STEAvAhAT Sl 21 T8 A S A Hwi
F foaid & iR & Te9 AT SR G99y
foreed 21

32.

Identify the figure of categorical syllogism in
which middle term occupies subject position in
the major premise and predicate position in the
minor premise.

frruer =moare & st w fafga wifvg
et 7eT ug g SR e ¥ Sevd T adn
TioT SR arerT T eI st T TR T T B
(a) Figure I/3TM 1 (b) Figure II/3THfd 11
(c) Figure III/3THfA 11 (d) Figure IV/3TH IV
Ans.(a):ﬁ?@[ﬁﬂﬁﬁﬂﬁ%wﬁﬁﬁqqﬁ%aﬁﬁ
T T o WER A FAHR R T 21 sl 3w
foifer o &g s 2
T U 7% e § w A T §
* fer =yreaTe % i 1 Red 72 g g STER
T H ILTF T a1 T IR A H [ i we
TEU AT 2
33.

What is incompatible with Parmenides?
URIATEEIS & | T ST §7
(a) Being is original, permanent and imperishable
o gel, @ i sl @
(b) Absolute change is impossible
fortey afteds vva @
(c) Being cannot come from Non-Being
T, ST § T ST HhAT &
(d) Being is a matter of faith and not of reason
T 3T 1 v g, a B
Ans. (d) : TEAREY R F AAAT @ 5 HINg ST A
JE, Ih FEET €Y AR T, TH & WA At
(e & sufafd &1 39 YHR gAREET fagid @
S oy @ f Cqeft w217
* qRATESH 1 39 3e09 F STEUROT W eRd 7|
oo o @ fo6 seve FReR dqed & 2, S ar d
dise & a1 e €, 3R 9 sEel T wehdr 2
URAATESH ¥ WY G -
* T e, T S e 21
* foRer ufee v 21
* T 3T § T 3N b 2

34. Which one among the following is the

samavayikarana of the colour of a cloth?
frafafa @ & &E-91 TR 9@ &k T @
HUATIIRIUT &2
(a) Threads/gmT
(b) Colour of the threads/sTT 1 T
(c) Conjunction of the threads/8HT T G
(d) The cloth itself/a& @
Ans. (d) : T fa9 1 e 9 Gwfea, fftm @ a9
T At G 9 A Aol % e O B w9y 2
* Weh g9 o U1 o1 GHATIHT a6 @ & 7|
*ghuel O1 9 vard €, frgen Syam sl & T1 % fo
fopean wmar 21 &7 FUS § WA W € SR 39 qEEt
7 ¥ 98 2 2| e IR @ey {7 aR-ar STan
& o ot = ®Y G o @A 2| TR aE & 7 H aE
=g T e g
35.

According to the Nyaya our tactual sense-organ
can perceive all the objects which we perceive
by our visual sense-organ except :

=T 9T o SITER W wyl-3iset o wreaw ¥
frafafea & sifafts 39 @it awgeft =t
AT H Wehd § T T U wnegw 3
ST GRT YT I &, 98 &
(a) Rupa only/&9 HH
(b) Rupatva only/®9d HH
(c) Rupa and rupatva only/®9 HR FIF A
(d) Sparsa only/Fq'S'hﬁ
Ans. (¢) : T3 3 & weAm § YRR # 9w qRuRe
el & ¥ s 219 Wyl % 3 g veEE S 21 S
T ®9 F @ # 9 9 E
Tyl HoE BT ®Y § A9 3R &€ I Sl q@E,
o7 3R Tyl S ArE WA 2
* Y - 9N % B ek vl § § uh 2w 2
TS Jah HY TR Mad §1 w3 awH
1 a9 T @ s 5 2
*RA a9 H T 39 FEd &, o 9 gH S #
TR |
* IEE § IR HIT §- Yoo, STHE, SUHH 3R vk |
* ] Y107 o & 9% §- SRl 3 IR
(1) STET Wedel WIUT- 50T, TO1, ] o, 3 5,
T sl #, IR & el FU 9 § @A % FRT S
Yo TIT S 2|
(2) 3T} YeAel WHIUT- H i IER & fie) e & 9y
W agr ol gard one wd S i F AeSH 4 B
FHIOT SR FeIe TA07 Fad 2
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*y W § 3, deer I R I fam &7
g g 21 (1) e (2) Es= 3= (3) iRE
Gfepy fam

* I I F SER g Y-Sl % W ¥ 9 SR
®U qF 3 gl el &1 ey A w21 Y
T 9 TR 3T S g STEY H ¢

36.

Consider the following and select the code
stating Antaranga of Astanga yoga

frefafiaa oX faem & 3R o1 o & ofa:
3T I AT A AT Fe AT TAT FICAC

A. Pranayama, Dhyana/9mom&aH, &=

B. Dharana, Dhyana/&TRUTT, &1

C. Pratyahara, Dharana/9cigiy, &Xum

D. Samadhi/qRTe

Choose the correct answer from the options

given below /= few T ot & @ Wt ST
T AT R :
(a) Aonly Fad A
(b) B and C only/&ad B, C
(c) Band D only/m B,D
(d) D only/&ad D
Ans. (c) : 3T AW & FAld wem 5 30T (Fw, M,

38. To whom, matter does not exist?

foreh TR siiferes o o1 tftae & Brer &7

(a) Descartes and Berkeley/aTﬂFf 3N et

(b) Descartes/3Td

(C)Berkely/?ﬁfﬁ

(d) Berkeley and locke/sdhel 3% wfeh
Ans. (c) : ¥ifdHsed @ FHL & 9=d 2, A s
faferdt g fopeft TR wobR & waref §  wRaff wE fean
ST GehaT 81 14fd e 35 F s ®9 § wad # gued
GeHdT TR W T GO Bl 2
* Fehel & STUR s 5o I St Tl g 2
* JeRTd - I BT STHT-{vash fagia fhdl yoRr & ufe
7 W oeRa A &1 9% W ad w81 R
e & T o o1 a%g & i & sTawas
& Ted| T THER WH a9 & §- IS dcd U IR
3R TG T STl ST
* Sehel- Sehcl o STTHR T 3R 3 Tl & i
T T | TR T & §F T 21 T B s
3fp 3- “H awqell @ e W A, # weE #@ oA
S @ §1 N & ue T € i Swe e e
% e T 7
39.

In Nyaya epistemology which type of jnana is

e, TOEW T OSOER) et SR ¥ A s beyond the senses?/~IT o ferm
(9ROT, S, FAI) ‘ST AW § AE Weh ST A 35 § W &2
* ST WA gurd ®9 § Hfed @9 W & s & (a) Sabda/TTTs=
AT e T SARHR I Bl & (b) Anumiti/3rffa
* T 3R T awa: el 3 quen % g 2| (c) Nirvikalpaka/fffereus st
* U AT 1 (w771 FA 2| (d) Pratyabhijna/Sers
37. Which one among the following is not an||Ans. (¢c) : = FHmEE § ffdfheus Towy 79 5 9

immediate knowledge
according to the Jainas?

St o TgER frefafad 8 § e |1 yae
(IS ) T 77
(a) Pratyaksha/qcded (b) Avadhi/zTa
(c) Manahparyaya/q: DI} (d) Kevala/ahaa
Ans.(a):éﬁ@h%wmﬁwwaﬁm%l
* o WO GF % SFER g 5 YR & g A 2-
A I, g9, sTafaE, 7. g 99, Sad
I
* TR, T T S HaeR & SRl I % 98 2
* TeTel FIT S Sl 3 o9 3 G % oA {9 8t
€, 9% I T Feelm 2|
* Yol T % & TR 8- Thol YR ST 3T IR
* SR 39 IR o & 9% §- SFEREE @ = wata
* YeheTIee] healoTai 1 &8 2 |

(aparoksa  jnana)

R 7
* qredfash I, Al S A S 21 9d ®9 ¥ O
et ofy, u, wel, g, ol @ ¥ o aeEfE
— 3if@, HM, A, S, ==

* ) T b RIHTer FEEEET § g § ol
IWEAR TWE FH A T oFga ¥ Wd edd W
srfefied T 81 9 ogEd § W A ogEd § W 7=
# gRom H Ny wd § oqr B gew el
3ve Ry WREfsl 1 @ve Hid 2|

* MR, TR, FentEn I 3 99 & wafed 2
40.

Which of the following pairs of books are
authored by Plato?/fr=ifeiiad & & U&Aehi &

2 & 7 R g ford T £
(a) The laws and The City of God
T o 3R 7 fydt o T
(b) Crito and The Laws/3hgel 3 & eifst
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(c) The City of God and Summa against the
Gentiles/Z fd 3% Tie 3R g =< T

SR
(d) Crito and Summa against the Gentiles
1Eel 3R GET SIRE T SerRed
Ans. (b) : T 999 g Ffa, g Rufsers, H =0
w7 § ofydt fF A emuRferen % w9 § wier fE
ST 81 ST 3T A ®Y T G I At Hfodt H 7
oo, ey shmeel, e, Her 3i 3 e W 2
41. Match List I with List IT
el 1 1 eIt 11 9 fiem g
LIST-I/g=h-1 LIST-TI/g=i-11
A. | Dharma/eT | L Aesthetically desirable
Higdyeren aeria
B. | Artha/3tef | IL. | Materialy rich
offeren 3 & duwr
C. | Kama/a&m™ | IILI. | Ethically sound
Aferes w0 | TR
D. | Moksa/Mer | IV. | Spiritually free
JeATfeae: €9 | ok

Choose the correct answer from the options

given below :/fFfefae faered o @ W&t ST

WWW:

(a) A-IIL, B-II, C-I, D-IV

(b) A-IV, B-III, C-II, D-I

(¢) A-I, B-1, C-1II, D-IV

(d) A-IIL B-I, C-II, D-IV
Ans. (a) : (A) & : U6 T H A TTell H 998 B
o AFE I AeE A 81 e @ et 3- shded, st
7, HEERT, ol 31|
+ o Afoe w9 § TR B 2
(B) 3ef : T g aref: 1 vl S femR s famd
Wit e & Heift 8, 3% ‘o g & Wi £
* a1 siifes 3fy ¥ woet 21
(C) 1] : FW A T g% 7 § affed 7@, =y,
T o T ¥ g ®9 F FgRY B 2
* o1 Giedqes Fiea 8|
(D) TY&T : ST FI W Fgl T 7| T T T o
e 81 ST siue s1err g (dien) i eraen § wd 2
* Hie] aTeAfeh &9 ¥ T 2|
75 foeq od & AHa fed % WX g &1 R g
Fed 2| faseliar A=t & el it wiftd & g 2
* T & fou 3 § IR qEsel & A o e g g,
a7, @, 3R eyl weff o e aqEd & wfues 2

42.  Consider the following statement and select the

code that state something which is NOT
consistent with the vedic notion of rta.

frafafaa wmemt W forem ity 3R 36 e
W G S HEAT ¢ N Tl Al LRUT

A. Gods follow the regulation of rta.

39 e o w1 Ures e 2
B. Rta follows the orders of gods.
A $YT h TSI T UTeT il gl

C. Heavenly bodies follow the orders of rta.
Tt S g % 39N ol UTer &id &
Natural phenomens follow the order fo rta.
Jfites UReeaT Bq & AN @ Ured
A R

Choose the correct answer the options given

below :/&r few 7w foereat & & W& ST &7

I T

(a) A only/ad A

(b) A and B only/#ad A, B

(¢) B only/H3d B

(d) B, C and D only/da B, C, D
Ans. () : g ot Al TRUT : FY TF TR Ve
21 5@ frod % e g off €1 wg ok aw @
RO 2,57 TRfve g amfse i Afvs fommi %
QR TH-I & T H T Ferdt &1 g Fr o1 o
& & R smvs @ fifies sreen, @y @ afere &
3f oA SR g # Afaes S|
* 4R Faq & Frdl 1 UIeE # §
* G fife g % TRl &1 I Fd &
* Jofiich aREeT Fg & S HT ToH B F
43,

Leibnitz's view of the universe in inconsistent

with which one of the following:

frrafafaa § @ F-TT Tk Ao & SEig

(a) The universe is a harmonious whole.
Sl @ § grHsregul e 7

(b) The universe is governed by mathematical
and logical principles./s@TE U 3R
fehes fagidl ¥ Henfera arar 81

(c) The universe is something deal and inactive.
srrE g e et

(d) Demonstrative method is the true method of
Philosophy./fesfaress ggfa axfwme & wd
T5fT 21
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Ans. () : TZAT & TS foem- @ ER
SAafe s AT o1 6 STaRer quia: Tty awq 21 faRer
Te-31Reae i 4 21

s Hafes # GRATE S A SR T R
RIS H WA fgs ¥ g W R R e 9
T G P T T TAR H

* FrRIUE WA H grHee qul e 2

* FRTUE T 3R afdhes fagidl & enfer &iar 81

* fraeieres Tsfa auie wE S 9 s 2

(a) Vaisesika/afifte
(b) Samkhya/TiET
(¢) Purva-mimamsa/qd Hiwi=m
(d) Yoga/amm
Ans. (c) : TG & 7@ Hwidr v @ & gren &
el H B
* g WA SRiS FOMEl W Uh fHgia @ % 9%
AYENT A g H 2| I I e wreifus
off 21 focoe wmedar SrEwifedr &1 g9 SterEr, St

44. It A and B are true statements and X and Y are
false statements, determine which one of the
following is true.

gfe A 3B U & § AT X T Y 31\
weA €, gifym S ff feafafea & @
I T T B

@ [AvX)DoY]o[(A>X).(ADY)]
(b) Bo(B~B)

©) [(A.X)DB]o(ADX)

d AX)v(~A ~X)
Ans. (a) : A 3R B T 31 X 3N Y 318 71
@ [(AvX) o Y] o [(ADX).(ADY)]

45,

Which one of the following is the correct
aversion of the the proposition "Some metals
are conductors?"

frafafas & 9 &9 91 39 % 9 FB
Ty HaTEe et €' ST WEl wferard= &2
(a) No metals are conductors
S ot o] Heareeh T A @
(b) No metals are non-conductors
#ig ot oy -G TE Bl 2
(c) Some metals are non-conductors
(d) Some metals are not non-conductors
Ans. (d) : 59 T a9 “F G GaRE A & H
T e “FS uqd W-Hared T A §17 2
TehaToR : TF THT a1 B 8, aR # w9
A F T Wedqul Bt 1 Wl dhar R ag
ZRT G % I A7 A1 ggal ¥ &1 F § A1 SH e
F g1 s TR § uF fipes T ] 39 Al e
STl 1 SR 98 S el b AR § el W 21 39 fadee
T ST 21
* T a1 98 IS SSEIOT €, S Al e @il @
a7 R T8 T Fed-379eT S A
46.

Which system of philosophy advocates the
motion of Sabda nityatva?

YT @l T W uglh v e @6t
TUTT T AT Hdt 872

o 3T 31 T §1 3% P TH 3T FHeT ST AT
gd fimiEr 3 S Hmier a9 s Al d@ T arem
R q erfevae ot fr off w9 o1sar § g 21
o - T demE S 0 e s o
FamR, Afaear a1 #ded % &9 & fFar o1 @ 31 qd
foie T g6 F JH F @ F A a@EF-era @
A ¥, afesh F& F FER Hifad syl § wie 2|
47.

In vedic tradition yajna is performed for :
Sfeer W § o7 feRar wran € ¢

A. The benefit of the Jagat/STTa & T %@'

B. The benefit of the rtvika/feaeh & @9 &g

C. The benefit of the yajmana
IS o AT 7

The repayment of devearna
TR F YiEH G

Choose the correct answer from the options
given below /<= feir U feremeat ® & Wt ST
T T R :

(a) A only/ad A

(b) A and B only/#9d A, B

(¢) B and C only/#a@ B, C

(d) C and D only/®aa C, D

Ans. (d) : &g o § o3 & weaw 3 T § wel o
@ 21 Reg o F Aol F e off qen s @ Qe
& foT a9 & &% 2 g9 el €1 TAE 9 gerERd §
Gt e el 7 Ay Y §1 YAt # o w1 &
fore o =3 fohd ST & Wy 21
feer T § O9- * I9EE & A §q)

* Qe o Hfaed g
*Iqg AFE Sad & faT o & T R Ay & §9r #
IS HH 8 N TUX & TSq HH a7 2
48.

D.

God in his pure form is 'Thinking on thinking'.
Whose view is this?

39 ruyg O W feiew W e &

(a) Kant/&ie

(b) Ploto/=iet

(c) Aristotle/3TT&]

(d) St Augustine/¥e TTTRA
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Ans. (¢) : ‘TR IUYS ®Y F K | A 27 =@
AR H 7T 21

* TR 7 SR 1 G T A4, A FROT F TG F 3R
TIW FEdE b 9 H A4 8

* ] AT HOE T R qeHm # we R
A N STuRad-ig Afaa g Tl S e aeft
it s G 21

49.

In Nyaya epistemology which one among the
following can be the object of samanyalaksana
pratyaksa?
T g9 i FHmETET ® frefated ¥ s
WA geaet forwer &t wehe &
(a) A particular case of smoke

qg i e staeer
(b) Some cases of smoke/gH H 5@35 STaETd
(c) Somkeness/¥HA
(d) All cases of smoke/¥H 1 Tt ST
Ans. (d) : f59 99 % g0 g9 o9 foafm (39) a9 &
I U S E1 I T U §, 98 R S 81 g
vedt H, et werar @ foRdt fagid W ager s g, 39
g 2
yamit & SR W R fofg wooge & = 2 3
T &Y Y Tehee 3 FHEEr 2
* = TR H ye g Sy ) e e ffdar 2
37eT; el ot T @ fF e & o
* Tl Tiiaw & STIER, Yo 3 SR fa % wfaed @
I B AT F8 JF E1 S TSI, TR 3R
TS BT & |
WA A0 Feel fore : el el 8 9=
1 T ST 81 SH9- el B JH,
* o goft Tt QA I T § I 2
50.

Which one of the combinations represents K.C.

Bhattacharya's Philosophy appropriately?

HHr. TgrmE % 9wl SugTh dieh | &

T I TEIA T &2

(a) Empirical consciousness, objects consciousness
and spiritual consciousness/aTI':[ﬂﬁT:B =,
TS FTT SR e A

(b) Objective  consciousness, transcendental
consciousness and empirical consciousness

TS AN, SIFARIT AT SR A
S

(c) Objective consciousness, spiritual consciousness
and transcendental ~consciousness/aT&(S
T, ST AT SR SR <A

(d) Objective consciousness, empirical
consciousness and transcendental consciousness

TS A1, FEEE A 3R AR
T

Ans.(c):K.C.ﬂE’\E‘Iﬂﬁ %Wﬁmaﬁm%w
T

Y- oae foeR, awfe fER, @fews @
aneATensh femm 3N IRetfehe famm

* 3 yegrarE &1 AT @ 5 el &, gEh ¥ &%
freger off dremn & &)1 afe Faa e 2|

* ol TeMEd o A F AT <o, e o
N SIHART =T b I I T BT |

51.

Consider the following and select code for

correct sequence :/fATAREd W o= it
3R | FIHA AT e T TG HIWTC :

A. Pranayama/STurrame

B. Asana/3T{

C. Yama/a¥q

D. Niyam/f&m

Choose the correct answer from the options

given below /ﬁ%ﬁqﬂqﬁm‘r T ¥ wet ST

T AT R :
(a) A,B,C,D (b) C,D, B, A
() D,A,B,C (d) A,D,B, A

Ans. (b) : TEFT AT YA H1 A AT H AR 8,
ST 5 3Tk AN I A GdET T | IR IS I
Tn, {32, 316, TUTEM, TERR, SR, S i gay
% &9 § gRwifa far 21 ene o Sl ¥ oiNa a% &
T Y 1§ |

*(C) AT

* (D) a9 (TeHSTIRIET &1 31).

* (B) 3T (T 13T 1 3T+2T)

* (A) IIUTIEH (A fE=0T e

* JRR (353 TR T

* S (S WIS B ¥ AT H aren gt o fefy
¥ a9 e 1)

52.

Which among the following is rejected by
Immanuel Kant?/fferfaa § ¥ ford si=gue

whie 3 iR forar 272
(a) Both Rationalists and empiricists are right in

what they afﬁrm@ﬁiﬁlﬁﬁ R 347‘[}45151'@‘3[ EE]
wd & o 9 wier & §
(b) Both are wrong in what both deny
e & fTed erdewd € 399 a1 & e §
(c) Knowledge begins in sense experience but
does not end with sense experience

A AT ¥ SR A 8 A T T
sfsayE I T A B

(d) Knowledge of God is possible
$o N I T B
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Ans. (d) : SHUA R 1 Ragia : RS &7 § TH

T Gheq T & U FE 21 Th w1 Faa aft gu @

T 21 Al 3Tk R fagia B A fradi @1 arem

U Fied fob Te fopam S

iz 1 a1 2 % g I T i awgel b an #

B e AN S § 1§91 a9 ST S |
AT g & aR F B GEHEF TN TG AL

W 2

* 9% A9 9 8-

(1) Freifies i emavas feamar ST =T

(2) GEvifes 3R Evas ®9 ¥ aifvd fe@mEr S
Bl

(3) T fe@mn s =ifen R qui =1 STqul &ded g
Qe fopar S

* gfgard iR STveEard aF W €, R 3 weR #w@ £

*Qfeh o o9 s7eewa €, 39 a1 & e g

*JE ShEAgoE ¥ SR @@ €, dfd 399 T

HEREICECE R IR

53.

Who among the following contemporary
Indian thinkers accredited with the view that
the element of intellect in the human kind
corresponds to the moral duty related to kama?

frreafefaa guertelia ardia feiqeant & 9 =

¥ 39 fomr A wr=rar 2@ € R wea gfg #i

AT 10 A Hefira Aferes ey & U&Y Bt 8

(a) Radhakrishanam/T¥H™TT

(b) Ambedker/3TIgH

(¢) Gandhi/Tret

(d) Deendayal Upadhyaya/SHaarel 3UT&ar
Ans. (d) : IR fias deeara w3 39 @R &6
W 3 ¢ uea gfs a9 weied e
FdeT & qUEY gl 21
* I ARG H TG R 91 H g §9 § &
FA U Y P THE AHFaRE A9 fGar gry &)
*4, e UH ARG (OHIfOY, THE  HHaeR
foemam & wnds 3R ardE SHar o % evaq,
TSI T R SE & =1 91

54.

Which one among the following is the gun of
soul accruing to the Jainas?

SAUA & AR fAfafed § ¥ w9 W &
ST ST T[0T &7

Ans. (¢) : SHT % STTER =T T AT B0 2
*S o % SER S F S WHE TEd ¢
SR & ST # 3T T, o Wit 99 R T @
1 e SR e Qe % g & HWOT A 0 b
T U gEe Sue, gEe g, 99 9 &
e ST % 39 ST I I [HaT ST b 21 g9
qut e o e B

* I8 Aq= (FeT) I FT G 7

55.  Which schools of the following approve
Svatopramamya of cognition.

frafafaa & | 9 91 79 J19 & WagTEs

it g e g2

(a) Nyaya only/=I™ H

(b) Samkhya only/&i®&q A=

(c) Samkhya and minamisa only

TieA 3R W qe

(d) Mimamsa only/lﬂﬂTFquﬁ
Ans. (c) : Td: QUL @a: JH0T T foar dfehar &t
gl 31 @d: TET % fqgid Bl JEEHEr & 3
fergiwor & &9 § @1 ST Fehell 2
e T Rgid 98 SER a9 8| g o fmien g
# g ST el 2
e 59 fagia # faare sl & 7 FE Ff g o1
3o wd wd T g
* T AT F Y e AR fHien 7 H 8
* i 3 diwier 2 eriteardl €, W g & srmftTssar
2 A &1 9 3T @ % Wiew 5e e W ag &
T THE T 21 3R FHE 39 e svefe serm
¥ off I T g T Fed £

56. Good as a simple and unanalyzable notion is a
case of"/TX T RO & &9
g e da e
(a) Prescriptivism/ﬁ'?ﬁ’TalTE
(b) Naturalism/JHfdars

(c) Objectivism/?I?JT?faTE

(d) Emotivism/SaTamg
Ans. (d) : @ Ud sifavemefa gwom & ®9 § v fawe
HaTEre 7
* SEYNUTHS G0 AN T Afash 3R 79 & T
fafyre wfepan @1 St ofcd: ofed, FadeRo R F= &
T F& A R
* o 1 fopdt we fomm & aig @ Y foRar i amom e
e 2 |

57. Among the following which one is not an item
(a) Iccha and caitanya/g=sT 3R =T of Brahma-vihara :/frefafiad # @ @=-91
(b) Dvesa and sukha/3¥ 3R @ FeT-Tergm™ a1 wehivT E 32
(c) Caitanya only/aﬁ?r = (a) Maitri/&Ht (b) Karuna/sh&um
(d) Sukha and dhukha/q@ 3R ESc) (c) Nidra/fsT (d) Mudita/ﬂl%ﬁT
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Ans.(c):ﬁ%@ﬂﬁﬁ?ﬁﬁ‘%ﬁ%ﬂ%-w, &,
wWiEAE e 3R GHIE F &9 § S S 81
qEM ST B S & g UR &G § e e S @l
3% 9% foeR % &9 § S o 2

* SRR IR stg T SR 3% fashfad B % foau st
TS e Tl UF Y 81 3% IR NUE &k ®Y A
ST ST B

(1) I9-FHIT a7 TIHR (2) FEOT
(3) TRl SR (qfam)  (4) T (3T
58.  Which one of the following represents the relation

between the proposition provided below?

ot f& T qeherer % wem Heiy frefaiad
H 9 foraw wga grar &7
No pens are red
g ot THeT Trer T §
Some pens are not red
TS HeTH AT TE &
(a) Sub-altern/39T3rd
(b) Sub-Contrary/39-feradias
(c) Contrary/faulias
(d) Contradictory/ZTeTd
Ans. (a) : dhaTeT- TH UH a9 gir 81 g an #
ol T SFHT F T Hgeaqol e 2 |
* o8 A IO @, S A Al WY gl 8 A fR
I W] G-I A | T qhare wad fohe
e o HerEal ¥ Sfierh fhar S 2
(1) SUTHa - iR Hergre § i, siERs
Hd ¥ SR ST 5, ST & fIq, ST 6 3feR
fafafifa s & wfafr 21
(2) Suferadae - sufamdfaal ©s 9 gt 78 & g,
g, Str 6 emeg F feuft & o 3w @y
o 8 gt 2|
(3) faudfiaes - S 7@ & 1 oFET A & S fawE &
w9 T &l
(4) Tor=TahTe - fa=Tars
59.

Which among the following theories of
punishment?

qug o frafefaa & & @9 o1 fag= gegds
T ITHIET HIaT &7

A. Reformative theory/J&RTcHh Tagia

B. Retributive theoryfgﬁl'-‘?'ﬁw fagia

C. Deterrent theory/f-aReh fagia

Choose the correct answer from the options
given below /= few g oot & @ Wt ST
T T HIAC

(a) A only/m A
(c) C only/m C

(b) B only/Fac B
(d) B and C only/3d@ B, C

Ans. (d) : JUEUE H HEA fane o e
sforemeree fagia s 81

* foramer Rrgia- 9 ud =aar @ 6 G, agel o %
fou &, afes wfgsr & TRl &1 eTefed HH &
o o T R 39 geN AU & w29 &
HTTAHAT bl FHIRT T B |

*gﬁ[gﬁgm(- ﬁ[@'ﬁ‘-iﬂ'@ﬂﬂﬂﬁ? am%f@l@iﬁﬂﬁ?ﬁ‘a
a1 I HI AEAT W ERA 21 39 g FSER
sTquref} &1 I U | & fved foran ST AR
60.

Which one of the following conversions is not

correct?

frefafaa & 9 &9 91 = a8 =@ 87

(a) Some women are writers-Some writers are
women/F® A AT §- Y A@S AR §

(b) No men are angels- No angels are men/&r8 ot
TE Sagd el o- S A agd IEY T 8

(c) All dogs are animals- Some animals are

doge/ﬂ"ﬂﬁqﬂ%—@qﬂﬁﬁ

(d) Some students are not honest- Some honest
persons are not students./F® BH AR el
Ans. (d) : * B A AGH §- B oGS AR &

* ¢ ff &% g0 Tdf ©- B o 39 g7 TEY T £

* ol g 9] € FD 0 P €

* 3 A4 b T ST B

*FB B THER TE §- FB THHER ARG 3 T £

* g FY-IOT A &1 9 $S B SHR T 2
@ 3B THFER =ARE BF 81 T8 T A
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61. 'a will that wills nothing"

who among the following holds view regarding
Kant's good will?

it g fodk i o g T AR e A
AfeesT & JIER fAAfied ¥ ¥ 9 SuIh
ToreI AT &IRUT & &7
(a) J.S. Mill/SLTH. fid  (b) Jacobi/Sirat
(¢) Bentham/s=rm (d) Sidgwick/fasifas
Ans. (b) : UE =01 59 &g 9§ =1 7 @ &iE &
Tfeest & TER St off 39 fER &1 awT i |
* SJehiall MO STt =&tk 91 F i & RN @
T 1
* (S F WA 8 b 5 WG WG H AGEIH 7T g
T AR TH ST U BT STFET T |
Te S ATt Y % o e 2
*hie o faga dftea T @ AgF # gwni @
TR ¥ T g 81 3R T & HEf % gRem ¥,
Aferehel 1 Teh UH HeY  Heied o = ¥ &Il |
* Sepiel gid & U SeoigHE fagiman, faftd alads
T @ ¥ TF THA IO H a6 GRE, S. F0
fergomn 21
62.

In mimamsa philosophy bliss uninterrupted by
sorrow is regards as :

HrHTT g9l | A 1 g@ W AfeRd B, 39

YW AUAT AT S ¢

(a) Apavarga/aTqﬁle (b) Dharma/eH

(c) Svarga/&t (d) Apurva/3Tqd
Ans. (¢) : HH 0 § = & 3@ ¥ Afad @ 2l
& T S 2
*fopdt famg W TeE ¥ 5 o fem-fawet @ fmien
T Fad 2
* s T g uRa R S fawewid g
A R ARG 1 3AfIT Sa o guzrer v efRar
F HEYH F el b T & qg Hmien @ T 2
@t fog et o STIER SRS % 36 WM & Fad
F1 St fomg At-2aarsit &1 9 2

Given below are two statements :

Consider the following with reference to Iqbal
on intuition.

FTUAT W THATA o Had # fAfeiad @
forem &

Statement I: Intuition is an unanalyzable unity
HIT1 : 3e: WA ek Aferverauiita swraif-ata &
Statement II: In intuition the knower becomes
one with the know and there by realizes it

HAT 11 : 3T UAT | [T &0 J &k 9
THIGT & 96T § 37 30 YR 3@t gy
AT B

In the light of the above statements, choose the
correct answer from the options Given below :

FoRTRT e o e W, e faw T fereet

T ¥ & ST & TG R

(a) Both Statement I and Statement II are true
e 1 3T & 9 &

(b) Both Statement I and Statements II are false

FO [ 3R I 379 &

(c) Statement I is true but Statement II is false
I 1 I 2, AR U 11 399 ¢

(d) Statement I is false but Statement II is true
HU | 3 8, ifehT B 11 9T @

Ans.(a):ﬁzm:mﬁiﬁﬁﬁaﬁ(ﬁmm%ﬁ
I U B H GHAT 3 T BEART 21 FH H TG
=i f5796 aR § $ &8 T8 T |

*THAA & fER & SFER, ARk TF AR 94U W
AR &1 3TF aAfas T bl GH § quiar yd
Bl 21 ARk 1 Hared ILYA WHNS W FASH I
HET B

* 3 991 & SAGTATiig HrEtar g1

* 37 99T § [T B FH F G THER 8 S 8 IR 29
TR IHH! ST HT 2

* e 1 311 SHl 9T

64.

63.

In which school of Indian philosophy the notion
of Adrsta is taken to prove the existence of God?

TRAT 9 o fhE Ay # 397 & Stha
&l g & & U 3gE &l Uear @ WEgnT
foram e 82

A. Samkhya/qi&T B. Yoga/aT

C. Nyaya/=&x D. Vaisesika/a91{ten

Choose the correct answer from the options
given below :

For e T faemedt @ W ST @ =EA
HIAC :

(a) A only/ad A

(b) Aand B only/%h—OIF[ A, B

(c) Band C only/é)—cl?T B,C

(d) C and D only/&dd C, D
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Ans. (d) : AT 3909 % 99 o =g gmEE §
% i & f9g & & o oGy # " # W
feram T 21

* UG o I FF 1 Uraat 1A fohan St grRom 3R
YA # JY FAURoT § g 8, iR g
fafre fqumy sl ¥ d eIt GaeTsie wfs, 5
HAfYw el ST 21 gy i wisaeh 31 T @ gI |

* 39fve ey § wHE @ faew fER 21 3w T &
FER d@l # FER FH H s g g of
IMEHR S 81 a9t o # 7 garef 3k 9 g7 §

* g & 37 §, ¥ femm, SrEuRon o1 §yedd @ fh
&1 o8 firet freeh 9 a7 =1 9w &

65.

What is correct in the view of Anaximander?

IMFAST & STAR & = &2

(a) Being is Reality./9q arefeshdr 21

(b) Water is the fundamental shift of the universe.
el SIS 1 Hiferh SUEH &

(c) Apeiron is the fundamental shift of the
universe./TYRIA SEUE F HifdH YR 21

(d) Fire is the source of the universe.

A SRS H HIA B
Ans. (¢) : SISTHVEY % AR TIRHA FRIUS I Hifelh
3UEH 21
* IATSAVET- 78 99 1 Ry o7 T4 gawew
ISl g= A S S gd g 1 B S o
T RIS faEe i {38 swre S
& fygid i T & Seo@ AT SR SR &
gt SRUS F Heg I &9 H g oadr =wedl A1 de
AR 21 g4 gt & o= i 9l § & om
fereh S 81 3N T qHfeE o s
* fag 3 AR S aTeT TRel e o THIRTEER 9|
66.

Which one among the following codes state the
cardinal virtues as per Plato:

frrafafaa § @ RA-91 T He @l & JAFER
T TUN Rt 0T e 7

A. Wisdom/9ATH B. Courage/qlgq

C. Temperance/SadT=®  D. Justice/=AT
Choose the correct answer from the options

given below :/<=r fau T fereredt W | WEr ST
hl I aﬁﬁm :

(a) A and B only/&ad A, B

(b) Band D only/m B,D

Ans. (d) : @I T T @ TLPN F TeEH B 1S
TF R A F T Evas § R S U e
TS & oI 3mmavash €1 39 g off A e f atest
T TH & T T Al aren g e

TR T L - faee, =, wum ek e (ae)

* el % U fgme =afe Afas ardfasar i 99ge 5
fore, femmr &1 SuET e @ S R oo 3 e |
TN T 2|

(A) foeis (S)F) (B) 9&H (¥) (C) HIaMER (H9M) (D)
T
67.

Madhva totally rejects the advocacy of which
one of the following?/mex foreferiaa o & ey

T o Tl &t guidan e & 872

(a) Sadeha Mukti/53g b

(b) Videha Mukti/f&Rg qf6

(¢) Brahma-Jiva-bheda mukti/sel-sia-9g qfth

(d) Sarupya mukti/Hee Hfth
Ans. (a) : T¥E TH g A TOET - @OEd I
391, e # A9 ¥E suE # U 21 ueawd &
ag F AT FIAR AT ST g1 meAEd e et §
3 THY % 37ugd 9
*qrearard et 39 euR W e € fF et ik
T % S G TR T AR e s W R 2
*earer fage qfe o= -Sie-91 4R, 9ww qfE 5
TuedT @ quiqer @R 5 g
* forQe gk : 99 & 918 9t a1 a%qe: R T g @
® FaRid s 21
g itk : W & e # el @ S
e qfRE & o 2
68.

What is incompatible to Empedocles?

I |1 H 3T §7

(a) There are only four elemental particles.
uH W e o1 8 2

(b) The elemental particles have
qualities./??-l% fafaa T g 1

(c) There are countless number of elemental
particles./dTfcssh Ul &t 3FRMT T Bl 2

(d) The mythological forces of love and hate
separate the four elemental particles.

9 S gun i g wikeat TR dfeas sl
T Sredt 3 aTer S §
Ans. (c) : THESHAY 4 ThETd 39 & foHE ¥ uH
Teaqt et e
*3 qed Hl i TR I ggad & fu & TE w6 2
39 F Toft TF T T @R F ThHaE o &1 W W TH
Hod § R 9T § S7Er BT 81 99 d% I UHA § S
1 g 3 2

definite

(¢) B, C and D only/&9a B, C, D * T AR At U1 8N 2 |
(d) A, B, C and D only/%de A, B, C, D * 37 e o 8 €
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*I9 SR g frus wRea IR difeas @il 6
Siregdt 3R 7erT e 21

* IEAfgRaT N TP o W THSEAH F GRS
U 21 S ReR TSt ATt fRud ek wrlh g,
i I a, A1 s BV S AATRAT B T
F1 T & 99 B OF, i, a1 o gt stoRadE 2
* THEIFAY U M i o1 S e 39 faam &
foe s S € fop ot gard AR A ¥ 99§

A, 9, F SR g

69.

Given below are some conditions of anumana
in Nyaya epistemology, consider them and
select the code which states only those
conditions where inference is possible.

= g9 # FW e ¥ OIHE Wt &
1Tt Hrer &t T §) 57 W femm & -

A. The absence of will to infer accompanied

by the sadhya
WET & JH ok WY IEH & % AU
TTST T 3T
B. The absence of will to infer accompanied
by the absence of the knowledge of the
sadhya
WIET o 9T o WY 3IHH & o U
TTST T 3T
C. The presence of will to infer accompanied
by the knowledge of the sadhya
WET & JH ok WY U & % e
I chl HIT
The presence of will to infer accompanied
by the absence of knowledge of the sadhya
e o JF o AVE o T ATHH H
& oI gest &t T

Choose the correct answer from the options

given below /ﬁ%ﬁqnqﬁar«q‘rﬁﬁmﬁw

WWW:

(a) A, B, C, D only/&a A, B, C, D

(b) A, B and C only/dd A, B, C

(¢) B and C only/#9@ B, C

(d) B, C and D only/®ad B, C, D
Ans. (d) : 3T AT F 98 4 S Fad FTAH W
TR &1 STAA A 2
* IIAM G AR AHUE ol TR e 81 AR
Tl # I % e A wwor @1 3 o U
YAIUT 81 Wraih qE Sl BIgH I g qu SEH
H AT BT TH QA AT &1 STAA & g S JH
I B 8, ST AW S 2
* JEOT % YR W fRer fvlg W wdeer & = )
& &Y § qherE 3 9 S

* STAM FAOT % 4 2~ WeiEE 3R quelgEe
A § 319 I H AT A1 O ST H A
#1 e BT 2, 3T WA Fed ©

59 oA § o= = - e, e a1 qeg-s

T 1 FRIBT A1 qred 1 e g 2, 39 weiEe

FgT S 2

* 21 T 1 1 AT § ST ST I SR B 8-

* T o 3T & WY STIAF & & (o 3981 H 3TE|

* e % JH 6 WY AN B h fIC 391 1 919

*YE & FH k IE & WY FTAH FH b AU g0
F 9|

70.

Sunyata according to the Madhyamikas is :
HTEAfHeR SUiT-eh oh TR IAAT ¢

(a) Sat/dq

(b) Asat/3THq

(c) Sadasat/Ha3T9d

(d) Catuskotimukta/Tq=HIEHH

Ans. (d) : YR A YA SlG B WEEE R
At A AT & wa A fagia 21 e gE R @
I 3R 3G T garel B QAR AT ST @ 1 HreAtie
| AR F aAie fagid & ®9 H sifiga e
21 T IFTER JT IR FH AT & e §

* AT A9 3 SFEN YT TqehleaTs |

71.

According to A.J. Ayer, ethical statements are
unverifiable and so without meaning, because:

TS, 3N o AR Afdeh e Ay §
3R formm oref o &1 wAifeR-
(a) They are used to express attitudes.

3 Tegfy F Fefdld e % fow 2 €

(b) They are used to express attitudes and to state
truths./d AR #I R&RIT FA W g7 H
Fe % T B 2|

(c) They are used to express attitudes and not to

state truths./d AR 1 T&RT W W T
H 7 Fe H T A 2

(d) They are used to state truths.

d GoF W e & fou 8 g1

Ans.(c):A.J.W%WW%%ﬁSEﬁW%\I
T8 T BT TRT| Wb 7 At T 2, dedt 7, 5@
g9 308 g v off s & fF AR St S 21 39 am
# 39 gff g ¥ U g AR

* gIhl SATEATfcA B9 8 b URellieheh areferehel o &k A
H I TS Jer AE ¢ gHT F 3fdH B E
* AJ. SR % UR A HY SR g 3R
7 & ¢ FifF I TR B gafdid e iR g # T
% & fore B E
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72. Whose philosophical thought results in

Paralogism?/feh&ant TYHITET  STaeruT
qeRtare | gl gt 872
(a) Hume/?gH (b) Descartes/SehTd
(c¢) Kant/®ie (d) Hegel/2Ta
Ans. (¢) : (1) I : ¥ TH fafewr Torifas gures, wi
foarh, fufoer dee 3k avwfowmer o1 (i fofew
qRd H HM R o1 3R 9 & gR @eEd &
feraml 1 gue e e i TSt e e @
(2) SohTd : I WE Fad € fF g0 I 7 Fed F g
o g S qrEAT 81 gHieT e St TR 8, afesh $aR
2, THfeT SR 31T AR F A B
* HM A4 TI® 99 F G TH a6 § FET S A
o | o e o gfgard et | & e
Sfewh SFgaaTd Attt & off T@ #i e 2
(3) wie : Afahdr T T AT F e A TEAET F
Feafyd gt 8 3R T & FE B qRom §, Aferbar
THAH ¥ e S =T § 8l 2|
@) T : el & of A 9 @ft S 2, 9 wed 3@
werd &1 fawg g e A et @ e e 2l
* {529 Aiferss &9 ¥ worawmel fomm somedt & fmior
fepam

73.

Write the correct sequence with regard to the
stages of Moksa in Dvaita vedanta'

3 AqT H Ui # ofewn & ded # wd

STITRA TATR
A. Samipya/aTHies B. Salokya/ATeier—T
C. Sarupya/arae D. Sayujya/qTgsq

Choose the correct answer from the options

given below /ﬁ%ﬁ{l{frqﬁm‘r T ¥ wedt ST

HT AT R :
(a) A,B,C,D (b) B,A,C,D
(c) D,C,B, A (d) A,C,B,D

Ans. (b) : 37 da WeamEE g gfAAifed d9r $9%
FAEl gR Sudfed gqae TAS & fafme g ¥
BT THereT-STerT 21

* 34X % U 91g H & WEAW § GGA 1 T &1 IR
F AP FAH TG Hed-ag FB A B G & g
A 21 R 98 S 9k % SFER Wt &4 8, 9
S § A T A I R i wfly frerdt @) 9w
St $ax &Y g off 7 9T HT Tbd | 9fRE S s
% IR Re IR 1 1 9 T 7

(1) 9T (2) W (3) WS (4) WIS |

* ) G 9aid H AT S 3TFer H Td %9 7

74. What is incompatible with St Thomas Aquinas?

e oty Tferaatd & Qe o STETd 872
(a) Arguments for the immortality of soul

ST Y ST o forw e
(b) Analysis of the relation between Reason and
Faith/Teh 3R 3T & Hea Tay ohr farwersor
(c) The Christian the appliance to Aristotelian
ideas/>TEATE YEl i O THTA
(d) Identification of Theology and Philosophy
AT o SR ST T THHBT
Ans. (d) : 92 9199 Ty 4 fie <3iq i SurE fagia
*1 e S gu gena fean f a9 ok w6
NI WEGERA # WE, W ¥ gEfed 9 &
U & 99 qd% 91 36 IFER IR WY F M &
e Y Yo HIAT 21 AT TFfT F AT BT $oR
T AT AT B
* Y ofng TFEAg & g 9 §-
* ST i STRAT o foIw Tk
* T 3TN ST & WA W P fveroy
* STNEATE JeIai 1 $618 TAI9 |
"There is no such thing as knowledge which

cannot be carried into practice, for such
knowledge is really no knowledge at all."

‘A St TE WER @ WIS ang W@ €S
g J g, Tifh 39 WhN I ST g 7
Which one of the following fallacies does the
above argument involve?/SURITh gt )
frefefaa S=-1 U S ra S §?

(a) Petition principia/3iTHIHT 3

(b) Fallacy of equivocatiommﬁhﬁ Eik|

(c) Fallacy of Amphiboly/als

(d) Fallacy of argument from ignorance

S Ffeh a1

75.

Ans. (a) : (1) ST W : T dhal, S a9 I
B 21 ST Fresd TuNaRl # ueet & ffed & 2
1.S. fia 7 tReied & =mee | 37w W & o
fepai

* JH S TH BN H TER A HE a5 T 8,3 A
T @1, FifF 39 TER A G HE JH A B 2
T A A 2

(2) SehTeleR W : IR & 31 H QW Fh

(3) AT BT : FoRddl T T T & SR @ R ot
Ffeqd foFar S 2, 98 a1 S Fear |

(4) IR Gt AW : I8 AT a9 A 2, o HE
foreft & 76 F A Afe & ol Teq W emElE ®9
Y FHET A
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76. The wholeness and unity of 'Dasein' in not

determined by :/TSSTgT & WHIAT U Tehal

T T P R g A g

(a) Anunderlying subject only
Faa sfaffed sl g

(b) An underlying object only
Faa sfafifed awg &/

(c) Both by an underlying subject and object
SR = s A AR %

(d) Neither by an underlying subject nor by an
underlying object/A @ fafHfed &l grT 7 &
sfafifed a%g a1

Ans. (a) : OO0 TeqmegT : 5@ feoga W SyAmTeRAl

aTva fesed & ww fested et 21

* UHAT S WG GG B F I TH AT H STEAT-3TeT
feen % T W W FA F 2

* ST % STER S, B w, fRanfad s o
fmioT ST

*fese & wwwar @1 feRor - * Faa i
RI B 2

+ STy 3 e A B A

* T SFfed sl gRT A & ¥R a5 g e 2

717.

'Space and time are empirically real but
transcendently ideal' who holds this view?

2 3R e Egafae w0 @ wq {) AfET

YRTIHfereh T ¥ 39 Weh B 872

(a) Leibnitz/aEa=ast  (b) Kant/®ic

(c) Locke/dlie (d) Hume/=1IgH
Ans. (b) : FT FAF 3R T H1 G0 T Fad IS
®Y Y g diesh el &9 § &Y Hi o b @
foh o fam erg9a i axgel @ 39 w9 § T ggaEd
21519 T o1qd o9 H 7 §, e Faot sl 7w ¥ T o
gt aesfier & vl & ded fawrg A4 2
* 7 3R F1e IFAIREE T T w9 &, Mh Il
&9 § 37EYl Wk BN &1 T8 Fi B BT B
78.

According to Jean-Paal Sartre :
(a) Consciousness and ego are same
FeT SR 3T FEA &
(b) Consciousness lacts an ego
e § 37 1 31T el
(c) Consciousness has an ego/ﬁﬁ‘ﬂ # o7 g 8
(d) Consciousness and ego same and lacks an ego

AT 3R 3 TAH £ SR 378 H 9 Bl 2

Ans. (¢) : SI1 9T T & STER a1 # 3% I 2
*gE 3 fdEaR B AFG # WA & g Siel g
H F SIER WEE H A AT W, T F Y R
I % Wy s Pl el @ & wd & A,
faesper T g =feu

* T GqfE A WS & Sfed S H T AE A
i 2l

* 39 I8 A A1 fF @ ot % w9 F, | e &
Tt al, AT AT S 370 Pt F AU R 2

79. Consider the following and select the code

status the items acceptable only to the carvakas
frrafafea w fomr =ifvg iR @ ®e =
T S e odieh 7a i @i qedt @
i e €
A. Earth, water, fire and air

gedft, TeT, AT R 917
B. Sukhavada/g@diq
C. Syatvada/®qdig

D. Bhutacaitanyavada/%ﬁﬂm

Choose the correct answer from the options
given below :/<=r fau T fereredt o | WEr ST
WWW:
(a) A,BandConly/a\v'al?T A, B,C
(b) A, B only/Fad A, B
(c) BandDonly/%Ff B,D
(d) A, andDonly/a\v'al?T A,D
Ans. () : IA® T % STER gedl, 5, o a1 ag
J IR & T gE & go BT §1 39 fquRa =i awia
oA IR TEl H AED &1 TS YA, 9, 97, 3R
AT 37 TR Wl F BN FA | AR H FeIE
T g
* grdieh < % STl i ¥ fawrd I 2, oty e 2
3 N T F FER T
*grdfeh 29 % TR g & Wl 21 9T F 94W IS
ff 7 2, T A FEd &1 T WA N ST R
R T8 B T
TEih AEG - * get, A, 91, S ad ©
* I HAUT F7 2|
* JafafiTy e & e 2|
* o1y 379 e 2|
* g e |
* i a9 G F & SffaT B W LT WA
s F g B 2- @ief, fr S w4
* 9 Jae 9ot e, O, a1 % §ean ¥ & vk #
AT AT HIT B |
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80. Match List I with List IT
el 1 1 eIt 11 9 fiem sy
LIST I/g=h-1 LIST II/g=it-11
A. | Sophists/aT{tRE L | Atomism/37U[aTg
B. | Leucippus and II. | Knowledge is
Democritus/Iad impossible
C. | Plato/=¥er IIL | Actus Purus
fergres =t
D. | St Thomas Aquinas | IV. | The ideal of
e atad Tferama Republic/TURTS
T AT

Choose the correct answer form the options

given below :/fF=fafiae foreredt # & W&t ST

T AT R :

(a) A-l, B-II, C-III, D-IV

(b) A-I, B-III, C-1I, D-IV

(¢) A-I, B-I, C-IV, D-III

(d) A-I, B-1V, C-III, D-II
Ans. (¢) : (A) WA 98 =afe &1 2,51 9qT, A
U SN 9T d § b b g1 W AN gei
Fe B FEE SRl & @R 91 3 A o1 %
TH IR 2|
(B) Ifue & 3T TMfshed o9 wedd AW WA
fort &1 T fagid A yads, T S wd H
F T Flcdeh R A7 ST 21 Wfhd SHfheg &
TO% o SIUANT W M B 1 99 Rar S g 3
AT SUETE F g
(C) WSt & "1 o foF areafashar wh qoi sasf &
a7t sffeia 31 AR ®9 &1 S 81 FE T5T 39 T
&Y TS H ®T AT 8, S IHHT WG Halfereh qe
3N FfgH AR % 5 A S @1 adt TR w5
arraet g
(D) ¥e oAfUE UfeAmE wWiafesd qmie § qod
e 91 SRHl 8 Al SR aifiie Farel & Sene &
S TR SR FE F A9 w2 REE A R R
58 % faglg FA 1 o FW I R e d)
81.

Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R

fo o wam fow w ¥, wwm Sifuwmew
(Asseriton A)a“;wﬁ%rﬁaa%a‘rmm
<hIUT (Reason R)a—‘»wﬁ:

Assertion A: Red herring is an informal fallacy
in which attention is deliberately deflected
away from the issue under discussion

TR A: WU Hehel Teh TR T §
el o= @ foem-famst aet 98 9 W=
TgTeRt farerfra st feam smar &

Reason R: The effectiveness of red herring lies
in misrepresentation of opponent's position.

®UT R: Ulaueft it fafa & firean frsuor &
YTHeh Tohd Shl THTAYHETAT feremT= gret &1

In the light of the above statements, choose the
most appropriate answer from the options
given below:

SUUH KU o AR U, e fau o feremeat

T ¥ God SUYTH ST T oI R

(a) Both A and R are correct and R is the correct
explanation of A/A 3R gHT @& € & R,
A & e T @

(b) Both A and R are correct but R NOT the
correct explanation of A/A R R I T §

SRR, A 1 T =T T ¢
(c) A is correct but R is not correct
A TE & AT R W T 2
(d) A isnot correct but R is correct
A T T 21 ARFTR TR
Ans. (¢) : T W Hehd Teh T farehy & 21 Forew
yfoueft ot fafy & waw FE & U 76 § T fomuo
e ger fepam T 21
* QTsh Tehd T SUANT TR FUHl Bl HL HL AT
g T 2 o fere fepam wmar @1 e 3aaes, s
ST FAT GFA & S 2
* YTHe Tohd Ueh SAAITEIRS 4 21 fSreH e i e
forrel et 92§ T g feRifua e feam S 2
* ST I Thfdeh AT & Terd deb 1 a0l &1
* AT 2, AfeT R T 7 21
82.

Consider the following and find out the correct
code from given below :

When an action conforms to a moral rule of
law of conduct, it is said to be------

W faemr #itve R e few T
e W TE He T UAT TR
TS RIS hH TORUT o Afereh @ steran fafer
oY g YT § T 3 el S R
(a) Wrong/Teld (b) Right/=&t
(c) Good/[v (d) Bad/3T3v
Ans. (b) : ST9 g HH RO & Afas fm erger fafy
# gt e &, @ W T el o 2
Afererar- fhdt =afe a1 =raeR i Afas o1d § Td-ge,
foroger @i $AMER S &1 Afdehar a9 H a8 0 2,
S 3 A S 2
*Jferes R BET & Gfa-Fmio &1 s A @, w6
IR & 79 & Sfia B g R 21 sElw 9RkT
T ST Afde o & A 31 £
+qo fam # gfd wenfy, go-ded o Mo
eIl o g 3 8d &
* g 4 T Rrgia SUsR, 3ifed, TR S = 2|

UGC NTA NET/JRF Philosophy Paper II, (June 2023)

41

YCT



83. 'The process of induction ends up in the

production of provisional definitions'.
who held this view?

“oreemd ufwmaTelt % SAed W WTHA @t

Jieham TS &Y et 1 9 Ae foReht €7

(a) Protagoras/FﬁéjﬁW

(b) Socrates/qeId

(c) Thracymachus/?}{ﬁﬁqq

(d) Gorgios/ﬂﬁw
Ans. (b) : “3TENE qRUMIS % 3Seured H 3HT i AfsRar
[T & 9 17 T8 79 gHU 2
*ghUd b fE@R- TR 9 FoEH 9T Oed § o Sl
Tl SO FASIIE B g H
* Y Fed & A § W g A SAfe 8, S
AT ST T AT 21 GHUA I Al sfshl H
IR FRAAIHA &1 GHUT BN A ¢ 5 =0 Sfad
¥ fou 7% v 7
(1) W : S U 3R A awnite &, R
T SR HEH & aR # g § A faan 31 39 1
§ “mgg weft FiS @ As 21 a8 SeER fagi @
AT & T T8 =AfE 91
(3) Ietieg® : Th A EHL o T 21 S 3
AR SR 3T @ 76 =9 gW & wed @ 3 W weR
fepdt & wrd & uff % @ e B
@) Sifter® : $-md $ufEl & fau a9 T U
e TErEal g (M) 21
84.

Which of the following is unacceptable to
Spinoza?

frafafias # ¥ @ A fameT @ sreie 87
(a) Everything follows necessarily from the god

YIS I ST ST 2

(b) God has personality and Consciousness
o § Afhe 3 < 21

(c) Identification of God with the universe is
endorsed/sTES & T $4R I AR B
(d) The highest good consists in the intellectual

love of God/Z%R & sifgs Y9 H AR Fared
W gt g 21
Ans. (b) : ReeT : ggof ofy S @ & =@ 2
oISt 1 AT @ 6 e SR % Tihfaes i wifae
ool & = 2 iR ffEe &9 ¥ &iE =i e o i
& 2
* IS AT §RT M@ I S aE iR 3R
ST THR H A &
* IS 3 W, 5% U o gad §, e u ad
de § Tur §1 REE g e SEE S % e e
' = T B

* fegreT A iR e 8-
* el ] 4R § ST 2
* SGIUS & WY FUX BT A== |
* 4R & difee I9 H gUN wated YW Wi 2
Heraclitus was concerned with which one of the
following?/%'-l'l'f%ﬁ'd'ﬁ frafafaa & & fea @™
& T Galeg, o7
(a) The problem of being/Hd s FH&I
(b) The problem of change/aRad= & THwN
(¢) The problem of number/S&T & THET
(d) The problem of nous/"=3H I THET
Ans. (b) : ¥fFRTEE T Ragia : dUfRed 3 o 5
e U T YoTell & &9 § disg @1 fred w e
# ufiddq ofda: g # Teft uRadd § wqfed @i 2|
e 1 fEr, Sieq & wh 97 Regs wRadT 21
o g FEEd ¢ fF TR off T & A8 F @ AR
hed Tel T@dr |
* 3fFereq WRade guen § g o
86.

85.

Given below are two statement: one is labelled
as Assertion A and the other is labelled as
Reason R

Ho o wmam for w ¥, wwm Sifuwmew
(Assertion A) o ®U | feIfga § @ EU 3Tk
<hUT (Reason R) FETH :

Assertion A: According to the Nyaya we cannot
perceive tow objects at a time

AMTHAT A: =T WA & JAIER &0 Th &
T W S AT T SIHS T B TR
Reason R: Mind according to Nyaya is atomic
in magnitude

HRUT R: M 9 F AR URUmH H wEE
IR Ee &

In the light of the above statements, choose the
correct answer from the options Given below:

SUITh HYA & ATeieh |, o fau 7w feremeat

T ¥ God SUYTH ST T oI SR

(a) Both A and R are correct and R is the correct
explanation of A/A 3R R 3 T T SﬁTR,A
T = 2

(b) Both A and R are correct but R NOT the
correct explanation of A/A AR R I T §
SRR, A ' T = A ¢

(c) A s correct but R is not correct
A T 8 WfFIR W A R

(d) A isnot correct but R is correct

A T T 8 Wl R wE @
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Ans. (a) : = T & AR FH H1 AFOT g4 W oF
e @ § §9 WA 81 elq @ 9 g 8
T @aE ¥ da 31 = ey dam @ sgd
T I B 8| FH ST F ATIF o 2

= 9§ AR AT 8- W, STAEH, SUAN iR |
* IR & TR B TH & W W A awgsl &
3T TE H Hohel |

* A SRR 241 91 & 3R R,A o & = 2

87.

Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R

ﬁ%ammﬁqw%@aﬁmm (Assertion
A) % ®u ¥ fafgas § @ g@0 SHE @R
(Reason R) & ®Y H:

Assertion A : In Prabhakara's epistemology
Akhyati has no place

AMTRAT A : THIRT i AEHHET T T
Y hIE T TE ¥

Reason R : In Prabhakara's epistemology there
is no room for false cognition .

HRUT R : THTHRT it AEHAET § THE G710
& ot =g T &

In the light of the above statements, choose the
most appropriate answer from the options
given below:

SUUh KT o AR U, e fau o feraeat
T ¥ God SUYTH ST T oI I
(a) Both A and R are correct and R is the correct
explanation of A/A SﬁTRﬁE—Eﬁ%SﬁTR,A
g = 2
(b) Both A and R are correct but R NOT the
correct explanation of A/ A HRR I TG &
3NR,A F HE = T 2
(c) A s correct but R is not correct
A T 2 IR T A R
(d) A isnot correct but R is correct
A G 7 g AR W R
Ans. (d) : TR I IH F 99 fFAEHT w9 F w9
F O 1 9EEA 8 SN I 5 | W FHER fH §)
(1) ST (2) STFA (3) TN SR TG (4) T (5)
b/ e
* YR % SFTIR UNOT gH S iR dehrel ST
T 21 qEl SR ST SR Wiy gHen SRy SyH
e 31 uRon H 9%, 3, @d A 99 94 w9
The B |
* YRS H JE A ¥ o §9H % faw B e
T 21
* fomy 1 fopedt wep foam # @ty o= 36 fkam 1 aRom et
S 21
*A 8 T 7, AR T 2

88. According to whom unperceived and

unperceivable entities cannot exist?
FAFER  eriea IR em W

arfiaeaar TE & HWeha?

(a) Descartes and Spinoza/Ssd 3R feg=re

(b) Descartes and Berkeley/é“cﬁﬁf 3N wehet

(c) Berkeley only/aﬁﬁé =

(d) Hume only/?[H |
Ans.(c):aﬁ%wmaﬁ(ﬂmﬁ
e & & g 2|
ool % TR =S sheel & FHH P Al & e N
fomm) orerd wear gfea wwft €, S fRml @1 SaRE
3R v F 71 R ffeea soft €, St seaw @ §
ST U S § 1 Thet & FwmE g H srifars
el S €1 39 fygid § TeRes Afvw wiva 8, 6
fifess et a7 Teage T 81 W @ off 7 WA g R
s w8, 6 e @ ofde S o
fafee 21

89.

Test the following amumana after Nyaya and
select the code stating the mumana correctly:
Anumana: Manimayah parvato vahniman
dhumat

|E Wi % gER frefafea @ uderor
w3 T &1 ¥ 3gHE & WR W IRW
WA I HE T TAT R

IIAM: T Tl AEH AT

(a) Valid anumana/ag A

(b) Asrayasiddha hetvabhasa/3T9=NTIS geamad
(c) Asadharana savyabhicara hetvabhasa

SHTROT FATER ST

(d) Badhita hetvabhasa/afed geamvre
Ans. (b) : =R & yadd B wUE ad 81 e
=M T 39 W F g9y o e g 7w 2 osgd
TR A AT - FR, SIAH, ST TH V=
* FIAE: AT UEAl  AfEEE W, STHES
BT i ST T R
* STTAM FAOT § 34 el qandl @ g foRan ST 8, S
T W I B F ArE W gu o gy A
Afera™ = 89 &% HROT $F 9 9 T e
= WA F U eege oW T g e, ¥, S,
39T AR Forme
(1) v afewr = sfeRm (2) 9 = 87 (3) T ==
= IFF (4) A A gHAH ¥ ¥ afREH = IR (5)
T AfgH = A |
* O GegaTcHe a1 i aIeeEd A T = Fal g
*FeaaE- ek I9 ¥ sHfifd Wk IR 9@
A A1 TFeHaT H Ay S 81 3H I H
ad § - 3T el S 2
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90. Given below are two statements: one is labelled
as Assertion A and the other is labelled as
Reason R

i S wmem fou g € Uk TR YT (Assertion
A) &% w7 # faflad ¢ @ @0 3@k &R
(Reason R) ERE R

Assertion A: Formation of stereotypes involves
the fallacy of defective induction.

AR | : TSURUNSAT Skt T&AT § HT SAFTHA
w1 g ffea g R

Reason R : Stereotypes are hasty generalizations

HAU R : WEURUMT

et §

In the light of the above statements, choose the

most appropriate answer from the options

given below :

SUAITH YT & 3Tels o, o fou o faemeat

T ¥ God SUYTH ST T oI SR

(a) Both A and R are correct and R is the correct
explanation of A/A 3R R 3 T T SﬁTR,A
g = 2

(b) Both A and R are correct but R NOT the
correct explanation of A/A R R a4 =& &
R, A N T =R T B

(c) A is correct but R is not correct
A TE & TR W 2

(d) A isnot correct but R is correct

A & TE ? AR T 7
Ans. (a) : * EgUURT # WA § G ATHT HT AW
fafee 2 21
* FEYRUMT STfaaia S adt 81
* Fea S Heheld HT & HEIH HI GHFHHUT Fad 2
FTHESA deAl B wE RN H Wi S F o
HTT B

* A 3R 21 W& & AR, A & e = B

"Most champion of democracy have been rather
reticent in suggesting that democracy would itself
promote development and enhancement of social
welfare-they have tended to see them as good but
distinctly separate and largely independent goals. The
detractors of democracy , on the other hand, seemed to
have been willing to express their diagnosis of what they
see as serious tensions between democracy and
development..... To deal with these issues, we have to
pay particular attention to both the contents of what can
be called development and to the interpretation of
democracy. The assessment of development cannot be
divorced from the lives that people can lead and the real
freedom that they enjoy. Development can scarcely be
seen merely in terms of enhancement of inanimate

objects of convenience. Their value must depend on what
they do to the lives and freedom of the people
involved..... The relation between development and
democracy has to be seen partly in term of their
constitutive connection. We must not miss the crucial
recognition that political liberties and democratic rights
are among the 'constitutive components of development'

Trrafefaa e s Ut yvl & ST <

Ak & e A gena 3 F Joft W o @
& didd o9 3y & foepr 3R WIS sheamr &
e A F 3H 3D F &Y H I H AN TgA Al
WY ®Y ¥ M IR SAUSA § @A oded ard g & |
AhcT & el H o qEl W b AR fwm F
we TR G % &9 § S 3Ed €1 39 =k B gl
T B 2. 3 G § fAed % fau R o e #e
Tehd € 3N b S =A@ a4 W A9 e A g
@ 31 39 e & fwitor & forg srer & S gehar 21

gfaen & ST ageli @ gfs & &9 F f4h 7 % TR
fe/hTe @1 ST Gehell &1 Ieh W1 WEATTd el s Tefeen
R e % g S F 8, W avah §9 F el Fwed
21 b i dishdd % Ted A Yoy F 9 % ®Y H
@I ST GhT &1 g e A F T o =few S
qefaeh et R dishdites SRRl % faem &
3T w2 2
91. What is the relation between development and

democracy?

fereTar IR Tiehc o Wear oI Waler &2
(a) In terms of their constitution components
I YT TeH b &Y A
(b) In terms of their constitutive connection
3T M WY F ®I §
(c) Partly in terms of their constitutive connection
I STTYT Hew &k AT & &9 §
(d) Partly in terms of political freedom
A o 9T ok 9 A
Ans. (c) : [5G T Aihda & weg SiTd ey % 9T &
Y H @1 1 Gobell B
* A SR faem & o9 &1 gy Sfed iR agara
21 A FI fFHE F FROT HAR A A F w9 A
T ST w8 SR T S § a9 Y ¥ 98 gu 2

92.

The detractors of democracy think one of the

following:

ke o fHge frafefaa 8 @ @ €

(a) There is a serious tension between democracy
and development/dishdd 3 fobrd & o=
TR e 2

(b) Democracy promotes development

Arhdd g &I TedrgT 37 2|
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(c) Democracy enhances social welfare
T QIIH FHTAOT Bl g |

(d) Development can be understood in terms of

political liberty/f5/hTd 1 TSHfceh el &
®q # G S g1 2
Ans. (a) : AIbdT & el § o10f qEl TE elieb 3R
o & e TR T % &9 § S 3@ 2| 39 &
FH F TT Wl B 21 3T qed ¥ fued ¥ fom R
79 foehrd 8 Tehd § 3R didhad & e A W) A
& <1 BT |
* Alehad & e olidhdd 3R fasE & di= 1R 799 g,

T g €
93. How does one assess development?
Tererrar 1 frrerfeor & femam ST wekaT 87
(a) By assessing the freedom of the people
AT S T % R g

(b) By looking at the enhancement of inanimate
objects of convenience/gafel & g
FI FEd S 5

(c) By assessing the lives that people can read the

real freedom they enjoy/?ﬁ"T Y 5 T 3R
ST ardfas WAl 3% e W 8 39 feir
QY
(d) By assessing the social welfare programmes
of the government/H{hT % TS e
FEsT o e g
Ans. (¢) : ST S99 3 a8 Toh SR ST aredfess e
% e @ 21 39 foem % faufwon & fow srer =
REZIES
* fyprg 1 fwfor | S99 S g% SR S adas
T 3 et W 81 3 e g e ST e 2
94,

What is the general intent of this paragraph?
TH TETYT T ATHT 3299 =T &7
(a) Political liberty and democratic rights
TSTfdieh AT 3R elehdites IR

(b) Development and democracy
forspra ST e
(c) Development, democracy and freedom of
people/fam, wshda S AT & e
(d) Development and social welfare.
Tehe S T et
Ans. () : TR &1 T 3339F b, disad 3R
AT % T e 21
* 5 Y § A oh b, eliehed 3R W & fow
TS g9 & &9 H T b1 T 2

95. What are the 'constitutive components' of

development?
forehrar & 3Ty wrew o B2
(a) Enhancement of inanimate objects
convenience/gfA€ & ST TE3HI H TS
(b) Political liberties and democratic rights
. e - :
(c) Political freedom and democracy
TSR TSI 3R b

(d) Individual freedoOm and democracy

Jafther TS 3R eAleherd

Ans. (b) : B8 Sfed IfEE & T gormr wifwl S
Toifieh Al 3 dihdites AR % fawE &
3T TS T WA Ud Alhdish SR &

Frrafefaa werisr s ugeRt Yyl & 3T <

froe awe ¥ 7.u9. § TR o i wRRemifeRt
% 7 famars fafaw e aRadqard st @1
M 90 & T F I@E T | 3Hh fauda BT § o
i 3 S & e S G T g S
wifea Seeten # SR SAE I Y T B4 &1 AT 39
foare & 7% 1989 H UH Wew@QW sEAE @1 T S
Th.E1.3TE. §R Uh TR e srewdl fae e @
IR & foran T R @rell 02 &7 & &t g &
FAM 3 TS oy FRIAE i gwedA foan) WA evf
FE JU F TR F Y uH ® 9, o F W g iR
39 GRA & i faag & ®9 F o omar gl wde 3
TRl TR # e e % g€ 9 W FM fhRa
3R FgT oftardt el & U SR A & WEard qe
F AF AT Johfe F Frfors RRIEA & 39 TR B
i &1 ¥ IR-GR 39 aamr oI W foed fa gren 9
T AT SN FE o @ & 3R TR Febrd T
W TEY IRY U g stk & fow smavas S f
TG ThF F Vb Teobel ff R 3Fi: Y TH 3R
e Gofiare #F I Tt A1 eTa it A
T o Wifeed e § R qRRes SaT % mda & 99
T Fg7 & SRR 3R mErl AW e @il eieE
SR HalgeTsh Tl P STEvIhdl W T JHfcus Sicerst
F T A F GESA § AR R S a9 IS
®q Y TEES A R gt wftaferd ae # oo @
F gEEn W S 6 7 et fame % w9 # @ o
a3 &9 ¥ AFg SmE W iy A& ot 9 @ Faa 39
N G SR IRORASA IR F T T F 4, 5N g
T2 T W, 399 TR h ST I I =, G
S quidT % W1k H Foanor & &9 F GRAMWT L Fohd & |

of
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96. Naess in his philosophical world view, argued

for one the following:

AT 3 3 yivTEitT afyerna & frefafaa
¥ fohg Tk W ek fRT:
(a) Ecological consciousness/dqMReha ELEl
(b) An alternative anthology/Tsh Fehfcqeh Fairen
(c) An alternative outlook/Tsh Jhfeash q@aﬁm
(d) Universal science/®mdwifieh farzm
Ans. (¥) : 3799 S¥ifes afyes od & 3@ifed B H 3R
Rftufist Jam & T § 99 9gd @ AeER R
TEqul S1q Bl e ATl Tefes 3R Yeulce qdeh
HETIRA W R FHCAF AT F [T TR B
goredl ¥ el 3R SHY a9 |
* TN X FHAT SR HET : 99 7 9 Syiumedy
dfyeh 7 UF dfeush AT W ah K 7
*WE SN ; A9 7 A9 I e Ay wiiesE
AT T A 6§

97.

How does Naess define well being?

A HeaTT ht R YeRR aReTire et §
(a) Sufficient food and shelter
T 3R IROIEA|
(b) Pleasure happiness and perfection
s g i gk
(c) Certain degree of autonomy
@A s A Jm
(d) Good degree of circumstances
uiRfafeat st 3fad (78) Am
Ans. (b) : Naess 4 for@r, geft W Ame iR o
Sa S 9eE SR TufE F ot o ¥ g € e 3
T A 3ERYT & T T-aedr g s
g =T
Naess &1 AT 41 f AME Seq & Ber-%ed & fog
goft T g@eft Sftee & erre, wEl e gutar 21
* 39 HET H A=, G S QA F w9 H gl
T B
98.

What is the outcome of the debate between

Bookchain and Foreman?/ﬁ'&»ﬁ? AR WA &

e e Tareng st aRume &/ §7

(a) A stand in support of nation-state
TP-TF & g9 & @e gl

(b) A new politics of ecological movement
TRReFRT ST 1 T T Toiifeh Sawe|

(c) Case for replacing corporate capitalism and
nation-state/zTEdIE dsiag 3R TF-TF &
Ja | Hi |

(d) Criticism against deep ecology

Tt qIiRfResht & aArere |

Ans. (¢) : W IHA 3N 2T HAA & Fi9 A & &9
F o o e weE T Tl offed & g
AT F TS 9T W W A SR BT dofiardt e
& T SN FgT AHEdr AT LA B el | I TP
T qet 3R SAEfes dsiarg $ a5a e o |

*qHEE O BRAT F T ARG # URUTE SHaws
Iofiame 3R TF-TT & age | Hidh fShar T

99.

Naess's philosophical world view of ecological
consciousness consists of:

TR ST & AW U gyivTEiT Afw
(a) Making ecology as the science of the universe
e & fage & &9 § wifRedt @1 fmfor s
(b) Making ecology as an encompassing 'ism'
‘ae’ @ Gl S & &9 7 wikferet fmfor
ST
(c) Making ecology as a positive science
SR g & &9 § qikfes fmir Hm
(d) Making ecology devoid of human concem
e Hafer wiftess fada fmfor)
Ans. (b) : 319 &N af¥ehdd i TEifhd H & 3R
WRfer ST B o A 39 Y T & wER @k
TEequl aId 1 e =Rl e v ULS. # et 3R
s wRResifadl & we foamms fafma s
YRedarr TRRe 1 A 9 % &9 § Rweh & g
* QR JaT & 99 A9 IRfemE afys wa #

3l 1 Sl & ®9 # R fFmi S 8

100. What does the author wants to convey in this

paragraph?

TH AT H G ST FqTT SEar 87

(a) Importance of social ecology
TS aTRferehl 1 "gc

(b) Importance of radical ecology
3 qRa-arel TR &1 e

(c) Non-violent direct action to protect wilderness
1 % F9 7 feds fdw

(d) Prominence of shallow ecology

Gagl qTRfterent st Jaerdn|

Ans. (b) : fBd avm ¥ U.S. # T 3R wHie
ifesifadl & 7o faems  fafme sme aftedq ard
TRRY I AT 9T % &9 F @7 TR | gHh fAaRd
e & St aRRes et S @1 St Sirem 9ife T
U S 5 Hfear Seerr 1 3 ST S g¢ S 2 &
* 3 STAT H g e uRadardr TRRgE F 7ew
AT 2|
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NTA ISHH, Je/Semus udtar, feawsr-2022
YIS (PHILOSOPHY)

qreEet '{T[%?I‘ Tgei™r U9=-us &A1 BT (odem fafir : 24.02.2023)

1. According to the charvakas water flows
downward because of:

odieh g9 oh AFER UHT TR (e &

) TEATE

(a) The Law of gravitation

TEATRYUT o I8 o HROT

(b) The movement of earth/gedt &I T & FROT

(¢) The shape of the earth/Je&! & 3THR & FRUT

(d) The nature of water

% e (FHA) F HROT

Ans. (d) : F@% I F AR, T A FH
(T@9E) % HROT SFEE (= AN T@d 71 AR
Tl T # 9t auie @ Afas auia @t ooh §
@ ST 81 Wi gvi YA @1 98 Youel %l U
ST AT 8, 39 3k 8 5 Sewema s |
TT % SR 9% T off a%g b ST T A € =t
% IFTHR T 5 39 fova & v 5 2
2. According to which Smrti is a pramana

e YT (WA ) % AR T Tk FHIOT

wq H U 8?7

(a) Nyaya/=m& (b) Mimarnsa/HTHrET

(c) Jaina/St (d) Samkhya/dieT
Ans. (¢) : S T % TER TR T 307 F &7 § 7=
21 S a9 I % & TR AT 8- STRE 9 S ol
T 3TqULT T & TR HI BIar 8- N qw: w=ig qer
et | T F & TFK H QT 3- 6 3 g afe
T 3W Fed 21 S 35T S A F §R A Sher @ adn
7 JF 3§ Ped ¢ S G4 gL a=El qur T T §
I I 2

Ans. (a) : TUMNF I & ER, 39 &0 7§ 9fF W g
T ST TS 2| T TS B T H AT A,
A R afee § W ¢ oTEddd Fear ¢ 99- &9
I § G| 9 T o F et verd € o
T e S wE el § wEen g, o, %, g,
fergi i e e

4. Which system holds the view that jnana is

intrinsically valid but its invalidity is due to
extraneous conditions?

frifera form goie Hyea &1 o8 #a ¢ TR 99

T JHIT ST & fehg et STqHTUEET Sner

IUTFRT (JTSEAT) & /T Bl &2

(a) Samkhya/"i&T (b) Bauddha/atg

(©) Mimamsa/dTHigr (d) Jaina/3t
Ans. (c) : S 23 1 wa @ 6 I @A S\ g
2 fobeg Wt STmIOTEAT ST SW SR et 7 1 FAR
1 T & 6 T F T 3HS Y @EY 2§ 8 N
w?amwﬁméww%m%aﬁmaﬂ
I 7

5. Who holds the view that the jnata, jneya and
jnana are simultaneously revealed in every act
of cognition?
frifera ® & fermant @ 7 § T 9, 9 wd
TE, 9 & Tow wEer (@) o g
(TEHT(TeR ®Y W) Yehe B &2
(a) Kumarila/HR&  (b) Prabhakara/THTeHt
(¢) Gautama/Tid® (d) Kapila/a&fua

Ans. (b) : T & Td 7, fF T, I AR IH-GIH F

Yo% FEER § UG (VeHew) §9 T The B E

TR B I e A ToRER & AW 9 S S

21 TSR FEd 2 5 JF W@E F TR FT @ qd T8

a1 3R 3T A THI BT 21 FdH FH F A d

& T A 3 § e, 39 e I

3. Which type of abhava is the abhava of a pot on
the ground at this moment according to the
Vaisesikas?

IRl & SITER TW 0T ¥ gt W ue @
TS feRd WehTT T 37T &7

(a) Atyantabhava/T<4d

(b) Pragabhava/amTHEa

(c) Dhvamsabhava/s3€mdrE

(d) Anyonyabhava/3==aa

6. By which sannikarsa according to Nyaya, do
we perceive the relation between a pen and its
colour?

= g9l % AR R |fwed & wemm ¥
g0 fertlt oo Ud 3HeR WM o WeT Weel okl
T I &7

(a) Samyoga/ﬁ?ﬁ"T

(b) Jnanalaksana/3T-cT&0T

(c) Samanyalaksana/|THT-IT&I0T
(d) Visesanata/f&rgrsorar
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Ans. (d) : =9 T F SIER, SO THE iy &
e ¥ 8w R dom 3R 3He (1 F 9 HaY
Yo A g1 i o ot # efsel 1 awge Wiy
ey |
7.

Given below are some statements. Consider
them and select the code that signifies correct
statements only.

Fior w3 ®ew fou T {1 9 W foem sty
3R 36 FHE W YU A HAA W BT Rl
frrefua shear 2
(A) Asatkaryavada is upheld by Samkhya

A T WIET FHT A &

(B) Anvitabhidhanavada upheld
Prabhakara

Af~aaTTen=are Ut gRT 0T g

(C) Asatkhyativada is upheld by Prabhakara
T EATfeaTg aHa] § 7 &

(D) Sabdanityatvavada is upheld by Mimamsa
Y rerearaTe HiuET g 7= R

Choose the correct answer from the options

given below :

o faw T faeren ® @ wE ST A
(a) Aand B only/gh—OIF[ A 3R B
(b) Band D only/%aﬁ B 3D

is by

Which one among the following is not a kind of
'klesa' in Patanjali yoga ?

frefiae § @ @ TH dewir % @ @
‘9T’ T Wk YRR TET &2

(a) Nidra/fsT (b) Asmita/3TRwer

(c) Raga/AmT (d) Dvesa/39
Ans. (a) : 1, TS & AT H FAL H TH FHR T E
TASr AT F SER, FAU H FA T uiF T -
tferan, i, T, 8% R AR

10.

In Nyaya epistemology, we perceive a snake for
arope by:
=, FHEE ¥ frefaftea § 9 e grn
& forelt o9 & | T yemar grar 22
(a) Sarhyoga sannikarsa/SaNT Hieehs
(b) Samanyalaksana sannikarsa

TTIET0T Fferehs
(c) Jnanalaksana sannikarsa/JT-ci&o1 gfererd
(d) Samavaya sannikarsa/SHaT Gfererd
Ans. (¢) : =T 9 HHIET % STER 9 0T iy
30 & el o) # ¢ oyt g @1 = aue H 9w
F AT FH ATV ST % SN 1 S 81 5 g9 W
T T A o & A AR b TR T AT Tg
@ 5 @R O SRI WY F W oA SR o] W
N SR T T R B S § o @ wh A
T G G B gUH AL HL G| FH, [ A0 W H
9T &9 Fel T

(¢) A, B and C only./dd A, B 3R C

(d) A, B, C and D only./3da A, B, C 3D
ns. (b) : FFEATNYHEE YHER g W B adl
VEFeEEE S g A @1 SifeanieEae. &
IFTER STl I AR I YRl § A (it e
2 79 77 1R &1 o w81 T e o &

11. Anyonyaprativimbavada is upheld by:

I =ytafeisreng s W=t fea faar 2
(a) Isvarakrsna/‘sc‘ﬂw

(b) Vijnanabhiksu/famfig

(c) Vacaspati Misra/ar=redfea iy

(d) Kapil/®fua

ag R H oW ¢ aRR k BROT VR S o
it & S 81 ves & 3 g W Srgeed Wl R
39 fag & STER A & 9 # e 2

8.

Which type of hetvabhasa is committed by

Ans. (b) : TA=fafereER & A= fogme fagg = faan
21 fogm g giem < # oifw e @m SW €
g AN 299 & HEITS W G afclehr AHE T &
teoiici iy

anumana : Sabdah nityah sabdatvat?
A | R Yo T geTaTe &: vreg: T
et ?
(a) Sadharana savyabhicara/STERUT FAHER
(b) Asadharana savyabhicara/3TETERU] HAER
(c) Svarapasiddha/Sr&uTidEg,
(d) Asrayasiddha/3Ts
Ans. (b) : UM ¥ SN FARER & FAIE B-
ez, I, STeEd | SN Yo § 2 STeAr g

12. By which sense-organ do we perceive external

substances?

frifera forer FMIfsE 8T &0 o St @t
A BT 27

(a) Visual sense-organ/=ef=a

(b) Tactual sense- organ@ﬁm

(c) Both visual sense-organ and tactual sense-

organ/?l?gﬂﬁi?l Qaf wifese, <Al

(d) Visual, tactual and internal sense-organ

g, S-ws i @1 i 98 GO ued g1 Wenvm:
TR 1 37 B ]G I SN

Ans. (¢) : Tifsa iR Twifsa g/ & O 5= @
9E e 2
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13.  Which one is the asamavayikarana of jnana in

Nyaya epistemology?

T AHHIET & IEAR HIA-91 Tk A= hi

sraHaETfeRTT §7?

(a) Atma/3ATH

(b) Atmamanosamyoga/?ﬂﬁﬂ"rﬁ@’?ﬁﬂ

(c) Indriyamanasamyoga/m

(d) Atma-indriya samyoga/3TeT-Sf~5aGamT
Ans. (b) : < FHEHE & TR TEHAEIT JH FH
GUATHIHTT 8| FRA # A JbR % RO 9 T E-
1. 3UEH HROT 2. AR HROT 3. fAffd o)
SFYHATHBROT 3G 07 AT FH H FEd § S SYEH HROT
# g R HE # Sd § g g 81 S g
&1 Fomfor el & ST § A 81 A g B wAn ()
FIS T STHAE FROT 2|
14.

According to the Vaisesikas, karya is :

AR AT & TTAR i &

(a) Dhamsabhava pratiyogi/¢5HIHTe st

(b) Anyonyabhava pratiyogi/3T==arera faimft
(c) Atyantabhava pratiyogi/3TcI-T4Td st

(d) Pragabhava pratiyogi/STTama Sfermft

Ans. (d) : TS AALATET % SFER, FE FOEE
sferirft g 21

15.

Which among the following runs under the
guidance of rta?

feafafea § ¥ ®E-1 kA & FPE *
il Genferd g &2
(A) Courses of natural phenomena
Agfiiss uftee-rst #1 o
(B) Alteration of day and night
fa 3R T 1 fasem
(C) Domain of human behaviour
UE SERR H AR
(D) Regular movements of rivers
At & A geed
Choose the correct answer from the options
given below:

o feu T foshedt § W wEE IUGRH IR @
Wiﬁﬁi'l{:

(a) Aonly/%h—OIF[A

(b) A and B only/&ad A 3R B

Ans. (d) : % 319 § S &) Fa| B 98 FEH @ S
Tpfereh 3 Afersh S & prafean 21 Fd From & g7 @
afeess TS fa9 & gereen qon A S # sgEE &
AT L Id 91 B T F Soored ggdr off T8
Hohd B |

16. Which dharma/s among the following is/are

NOT jati in Vaisesika metaphysics?

e aedfimiar § frafafes & | @E-
/A e fer T /82

(A) Akasatva/3AThIRIcT

(B) Gotva/Ta

(C) Dravyatva/sdd

(D) Udbhutatva/3g¥de

Choose the correct answer from the option
given below:

Fror fow 7w faekeul @ @ W SR T =

HIfT:

(a)Aonly/aTOlF[A

(b) B and C only/9d B 3R C

(©) AandConly/%alF[ A3RC

(d) AandDonly/a\v'al?[ A 3IRD
Ans. (d) : I dermEr § s 3R 33 o
Sl T2 81 Selfeh Tied 3R FeAed b1 Gay gSa 9§ 21
Toft Sfvaras wedl § FB gWE 0T 9T S € e
YR R 3% Rra-2 aaf § Wl Ser 21 S §9R % 99
T § M G & FfRd ®H P R0 3K M S
ST a9 M v § W@ S 81 39 faeee 9 fag g
2 5 g, =afedl a1 asgelt § e S S 2
gl Sy ‘Feaed off weft gt | T aren wee g
17.

Which among the following is/are menas of
Saktigraha ?

iR # | VITThITE ST SAT9T ShiA-|T &7

(A) Aptavakya/3Tdar

B) Tatparya/ﬁ'l?q?f

(C) Vrdhavyavahara/gGoIagR

(D) Tarka/ds

Choose the correct answer form the options
given below:

o faw T fosrem ® @ wE ST A
(a) Aand B only/gh—OIF[ A R B

(b) A and C only/&ad A 3R C

(c) A only/ad A

(d) A, B and D only/39d A, B 3D

(¢) A, B and C only/39d A, B 3 C Ans. (b) : T faHedl F SIER STad SR
(d) A, B, C and D only/&ad A, B, C 3D TSI I H 3 2|
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18. According to Ramanuja, Aprthak Siddhi is a

relation between :

TS & IER, forae wem sy fafg =
Tfer gie 87

(A) Brahman and jiva only/a\v'al?T ERRCASIC R
(B) Brahman and jagat only/%a?[ ERRCASHGR
(C) Brahman and jiva and Braham and jagat

only/aet 5 3R g e s S S #
(D) Jiva and jagat only/®ad Sfig ©d ST |

Choose the correct answer from the options
given below:

frer faw e faereut ® @ W ST TA:

(a) A only/ad A (b) B only/#aa B

(¢) C only/&ad C (d) D only/®ad D
Ans. (¢) : THHS & 3TN Hadl s 3R g T s qer
ST % qeF 379U faf 1 Gee B 21
19.

In Purva Mimamsa, the point of difference
between the Kumarila and the Prabhakara
Schools is, with regard to:

gd duiar o, freifed o @ fhoe deg o
FHRS Te JoTeRt WU ( ImEmed ) & e
Rrerar 27
(a) Authority of the Vedas/3gal &1 Tl
(b) Intrinsic nature of knowledge
I H Ed: FHOIA
(¢) Nature of Vidhi/faf&r &t wfa
(d) Khyativada/@ATdare

Ans. (d) : THEE & wfiae § gERa S e
et % g far o S @1 9w, wifq a1 e &
foeem @ wnfae wer S 81 HERa @ ae faad
A & 99 ¥ SEfh Y9 F Aq SFSAMER & AW §
ST ST 2
20. Match List I with List IT
Tefi-1 st gEhi-11 9 gafera s
List-1/g=ft-1 List-11
-1
A. Caitanya is the guna of the self I. Vedanta
I ST T T 2| EEk)
B. Caitanya is an agantuka guna of | II. Nyaya
the self =9
e ST HT ST o7 2
C. Caitanya is bliss/=a=a &= 21 | IIL Jaina
EE]
D. Caitanya is epiphenomenon IV.Charvaka
e ST (Sfher) & EiCica

Choose the correct answer from the option
given below :

e faw T farsren ® @ T ST g
(a) A-IIL, B-II, C-1, D-IV
(b) A-L, B-III, C-II, D-IV
(¢) A-IL, B-IIL, C-1, D-IV
(d) A-IV, B-III, C-II, D-1

Ans. (a) : &1 {[ﬁﬂ formfetfiad 8-

-1 -1
A. FT ST O 2 1L 4
B. 0= S 1 S T 2| II. ==
C. == 3= 2| 1. 93id
D. == AT (S%eT) 7 V. =i

21. Write the correct sequence with reference to

the states of experience:

IS T * ey ¥ wHt gww
UL

(A) Prajna/531

(B) Advaita/375d

(C) Taijasa/dsid

(D) Vaiswanara/39MT

Choose the correct answer from the options
given below:

ot fau T faeheat § @ Wt 3T A
(a) A,B,C,D (b) D,C, A, B
(c) B,A,D,C (d) C,D,B, A

Ans. (b) : 3T T ST BT G& IFTHT 9 THK -
D. 34
C. a9
A. ST
B. 3784

22,

"To say that there could be nirguna Brahman
is like the dumb saying that he is dumb.
Whose saying is this?

"“og g TR U 9@ & "eRdT §, 9% St
A ok 3 wAH & GUH € R T T R ww
fermat 3fvs 82

(a) Ramanujacharya/mfﬁfﬁ

(b) Samkaracharya/W[ﬂTﬁ

(©) Madhvacharya/‘-'l‘*EITﬂTaf

(d) Vacaspati Misra/ar=r®afd fag

Ans. (¢) : T8 Fel 1 Ffor s @ whar @ 7 3fE g
% 39 FUF o 99 ¢ f 38 W 81 7w 3tk wearard
Eilk
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